H3
s

/’ ‘}“
(-E:stem :

- - Europe

ar>Eat (#Fh ) SRBRS

X B S B

HAE s_e_r_i;as

PN

MR/ R5E 3 TR /A
Eifi: 0769-53262114 il 0551-67047758
¥ . 0769-53262115 fHE. 0551-67047758

@)
Hibt - Eﬁ%ﬁ%ﬁ%@ﬁj@%ﬂ% Mtk . 2R A A 7 5 .
Rl R 1820855 (ﬁ 5 Ak PE 3 B AR

B =4 B

m r =) ;

G - =
Taiwan Equipment Supply ﬁ
Center/Kaohsiung L e

1% /Phone: 00886- 75694285 .
ega Kuningan it /Address: EALH T oo o

arta Selatan N B R 2098 L £ £448 . 400-7805898

12950. Ind s F 7 GBS F R C WWW STY-GEAR.COM I
I ANOODETa SR ABER ., L AT, AR o~
Wl FEAT IR R A 4 7 B AT %



AR

Company Profile

e R (B GRA A AEER LAoEHP2013EE LRI EE T AR .. Ad 2Rk
T3 H B b, Hkﬁiﬁ‘é'éﬁbk@[‘%i@ﬁﬁiﬁﬂﬁ HE, HERBEITAREE. AFESIRTE
P N BLRI A (HBAR . D wsdd. ﬁ:&*ﬁﬂéﬁA) MIWE %, MO B E 2N, o5 b m T AR R
TR, MBS EE “STY GEAR” fh & & FE 88 R AR IR & T 0 1F 00 A B A ks 1 . FRAPTR 2 i 1 3

ST KA AT R A R ER AR, ﬁkAgﬁﬁf%%Tﬂﬁ“‘%xk SHREEAMES ARG BT RE. AR ESA
STYSh MR ks AT i, HARKER. MBS, AfME L., SgFE. EHMER. SR, G4
W ERE .

20 145 v @) KCHE & 5] o o i CURS S 0 L R n Cagfli, HAE B liihestd. HA R R
. HZSZKPSJT’MEM%%%EJJDT&W’ fH i A B 2R 0 B fA] RE TR R N L E R MR ONfER . & W T B
BHER A H A, A |||z%:57|JfE A A, RAFRR EFLER 8 R AR 5 £ UCHS, 72 TH 84T 22 a0k 4%
i [ B TF@*@Z%HW B 2 A FE SRR T m), P AT A R B AL AN TR % A R R ORI
(QOFEREE H MRS , Z W B AT EIRE 2% (R AS 5 30 48 31 W ol oK 2% ), i v] DL AR B2 52 1 s
AR, EMBEIZEN TR GEMBIK) , Bost# i, /1\;_1113]&?'?”%, 3CHEN, JeiRakfi, MEME
WTREUR AR M A, M RACTH BN, REREEMAREDRIEE, MEH M, FAREEE, U HEREH
fﬂ'f{fﬂﬁ?x i i & #R A Hﬁ?ﬁii’%%ﬁé’]ﬁﬁﬁ

i ”””ﬂﬁﬂ%iﬁ’-iﬁx WMy E L AT SRMAECEBEEN, RIBEEBLMELBERTE.
# L ARl AR, RHELEEEN A7 A AR S 4E tﬁ.‘iﬁ “HLGE. B, BIET E’]ﬂ_ﬁlﬁf*i"# BXRF “ LA
ANGEA, BEHEAMS” MRE, B “ARFFAEEE, SETAE#He, At afdEa” MAeEEE
B, BPLEBEMN. BB A LU 5% A T B, 75@554& A i ) FH P 3E R R RN AR &
B3 AR .

Shangying Transmission Teehnology (Shanghai) Co., Ltd. is a wholly—owned subsidiary of Taiwan Seiko Enterprise Co., Ltd.
established in Shanghaiin 2013, and officially opened in March 2013. Based on the global industrial automation field, the
company gathers seniorindustry teams to conduct independent research and development, production and sales of high—
precision planetary reducers. The company is also committed to the research and development of special reducers for
industrial robots (cycloid, few-tooth insert, planetary combination). Our team is good at a variety of internal and external gear
processing solutions:We have summarized a complete set of "STY-GEAR" quality management system To ensure the
relative eligibility of each component. We use advanced calculation software for design and demonstration, combined with
years of experience in mechanical transmission to improve global motion and control solutions. The STY brand high—precision
planetary reducer held by the company has the characteristics of high precision, low noise, large carrying torgue, stable op-
eration, strong versatility, long life, and maintenance-free.

In 2014, the company introduced a large number of high—-end imported precision gear processing and machining equipment,
including American Haas gear shaper, Japanese Cassif gear hobbing machine, Japanese KPS whirlwind milling and other
machining equipment, constant temperature dust-free assembly workshop and constant temperature precision machining
workshop successively Putinto use. The products can directly replace German and Japanese brands. The product series are
all complete, and the size and accuracy are completely matched with Japanese German reducers. While upgrading planetary
reducer products, the factory adheres to R&D and innovation as the corporate development direction, and successively
develops and launches suitable for automation Different installation and output requirements (90 degree precision right angle
reducer), multi-joint robot industry reducer (RV high-precision pendulum cable pinwheel reducer), non-standard custom
reducer can also be customized, the product is widely used in machine tools (gantry machine tools) , Laser cutting machine,
woodworking engraving machine, 3C automation, photovoltaic equipment, lithium battery and other new energy equipment
leader, full servo papertowel machinery, precision embossing printing machine, precision coating machine, servo bending
machine, CNC spring machine, etc. Higher equipment, etc. have the use of Shangying reducer.

Quality is the foundation of a company's survival. Our original intention is to provide the market with stable and high—quality
products and propose more optimized automation solutions. We will be'guided by the idea of "Born for Intelligence, Techno-
logy Drives Innovation", adhere to the corporate spirit of "Dedication, Teamwork, and Innovation", adhere to the tenet
of "People-oriented, Professional Enterprise”, and follow "Create value for customers and provide employees Create
opportunities and create benefits for the society" corporate values, gradually realize the internationalization of products,
marketing networks and talents, brands and capital, unremitting pursuit, and constantly use business wisdom and sincerity to

J*m%lﬁi&

create the future. (LlWAN &Hﬂ“G‘JI"G PnEc'S'

EMEHSRRZESERMSEEUNI, FEiFsKIEH
EEX, #RREEER, ﬁﬁ*ﬂﬁ*‘ﬂi@ﬂﬂﬁﬁﬂ' AEER
BB ) HERE , SKILE &R/ ; R AL H i R A [ SRR T A
RAE, BEEARZNERMMBENEREM,

Technological We introduce high—-speed end support and gear meshing machining to better meet
revolution the coaxiality requirements and meet the low noise requirements increase the
adjustmentring inside the reducer, adjust the internal axial clearance to minimize
the turbulence; reducer The outputis carried by atapered roller bearing to meet the
greater force requirements and the absolute stability after loading.

BIRVZOEBHHRAEER, aE T4l Er, XM “F
WAHEALE, TlblHElLEEF" o IMERAEEH, B
WRAZXAHE, FEEHALSTY-GEARR=EEBEKREK,

DRRE,

X The core components of the reducer are produced by professional companies in Japan
Part processing and Taiwan, and realize "professionals do professional things, professional companies
do professional parts." The external teeth are hard scraped, the internal teeth are

broached several times, and all parts are fully inspected by STY-GEAR quality
management system.

SMURAH., BEES, BMEFEENEXR; IMRALERARHE
TZ, 2RZRK, MBBNHE. BHH.

The appearance adopts curved and straight combination to meet the aesthetic
requirements; the external surface treatment adopts aspecific process, and
Part processing the salt spray testis used to achieve absolute anti-corrosion and anti-rust.

Al i
?\

U




MANIRE=RAERLAS, ATEEEEEMEN,
BiEMR#%REE, ERERESRABREEZ N

The modular combination of the input flanges allows for easy
adaptation to any motor and the use of magnesium-aluminum

alloys to ensure strength during weight reduction.

BN S AR, WRSEIHEA
WENESEKSZTHRN TG, WS KHER

EEXARNIMEBITERS, WRIILEZLTITE

XUBE

The input shaft adopts a double collet type locking
mechanism to ensure the dynamic balance with the
holding torque of the motor shaft and its own parts.
The input shaft is connected to the sun gear with
internal and external spline transitions to

ensure that there isno'risk of slippage.

BEMBXRANREEW, En-RLSLE, MM

3K 15 B 4E B9 I BB 1 AN it i T F 1

The gear material is made of high quality alloy steel. It is
subjected to carbon-nitrogen co-infiltration to obtain
better wear resistance and impact toughness.

wWHE=. AEBEZEAENF, THRARZTHHE

EEXR, ALMRREFRERERE,
The output flange and the inner ring gear are integrated to

ensure the concentricity of the parts and provide a guarantee
for low noise.

BHM R AN ZE “—@X" Fi, BERBGEIE

<

SRHETHREE,
The output shaft uses a double—-support "One-piece"structure to
ensure the stability of the reducer under high load.

BMHITERXASENX (WZE ) NERIRT,

BIEHAKXEBES S THEERN, ERRENE

BN, UBRESHHAERIENEE,

The output planet carrier adopts an integrated (double support)
) structure design, and the front and rear bearings are distributed

in the box body to form a stable integrated structureto ensure
high torsional rigidity and precision.




n e, e
e L P

.

o IS it B R e A

B—BI1F, BRBIRE.
54 m, EERLZME.

Every process, the better the requirements.

Every product, are all carefully make.

AN HRC

MACHINING
GENTER




S1Ed=

The Cooperative Enterprise

CHNT

AIl'TAC

SymMG

Sieyuan®

M TIANMA

BEIRISE
@ SIHE

BES

TOYOTA

© BOSCH

Homa®g

SI/ISUN 7 #

</ HaINnKookK

2 CHANGHONG F4T

SIEMENS

@ GREE

CST

JECHKING

TIRE SOLUTIONS

BT ME

Our advantage

D hJ

an hR A &
KPEFFERETBRENITER
E, EEHBENTR, BERRE
REHRIBRKE, RETWLRNHS
HIITZINE, AERSRE.

branded advantages

Long-term focus on the development
and production of high-precision pla-
netary reductionSpeed, with excellent
products, service quality andProfound
brand heritage has won the industry
and the marketls widely recognized
and has many honors.

FATRIBE S

T
LI RIMEB R, BRERAN
SMTSEHBRARTBIFE S, REF
MiinEMARE . EEARL
s, LHERK, AFPLE
PR E R

Industry advantage

Relying on the internal and external
advantages of the enterprise, gather
advanced technology and innovative
ideas from domestic and foreign indu
stries to maintainPreemptiveness.to
market excellence. Cultivate and in~
cubate new products and business
models to create for customersCon—
tinuous return on investment.

EREMERHBENAHER, BEREZURER
MBERR, SRRIFMNFFRS, E5LRRE

BRWEMRR.

Our ability

With high—tech and innovative technology, continuo-
usresearch and development and precise creation tech
nology, and efficient and goed customer service, Shan-

gying can ensure stability and quality.

RIEMRLE
LtimEENER AR ARSI E
z—, HEELEEMEALRTIAREF
FIRAEE, ATAMB®EIE. B
BRI,

Resource advantage

Shangying is one of the earliest ent-
erprises in the field of transmission
technology in ChinaOne, with Taiwan
enterprise background and good capital
marketFinancing channels, can be
project construction, operationProvide
strong support.




Em ﬁ¥ Application

FHRER FEHIT BIZWER
Photovoltaic industry Pharmaceutical Industry CNC machine tools

AGVEREi#i& &
AGV intelligent st

5 6
45 LA B a5t
orage equipment Textile machinery medical instruments

RETHHHISESE iz & HEZE AL
Auto parts manufacturing equipment Testing Equipment Filling machinery
el 8 9

EEMEREE, RMRUESHEE. SRE. SHBELENTERERBRAR, RMEREATIXEEERE
1736, BRATHRNBWE, HIFETHE, BUZHIK, AGVERESFRME, MMM, ERIRE, KEFTHBHHIE
B, WRIERA, EEERHE, RUoLUIEl, BEEESEH, SRAEERFIEEE,

BB

laser cutting

ENFRlig & BRETE
printing machine Packaging production line
pid 12

In your application field, we provide high-precision, high—quality, and cost-effective planetary reducer
solutions. Our products are used in various industries in the industrial field, suitable for photovoltaic
power generation, pharmaceutical industry, CNC machine tools, AGV intelligent storage equipment,
textile machinery, printing equipment, auto parts manufacturing equipment, testing equipment, filling
machinery, laser cutting, medical equipment, Industrial fields such as packaging production lines.




EZE S B CONTENTS E S H$E CONTENTS

o HABE#ES HEZRT é” VRB EHESEERT

SERIES Z317 & v SERIES %3175
P1-P5 ) P33-37

&

HABRE&EHES1ERT!

SERIES &%/~ m

VRL BiEMSsHESERRT
SERIES % 517~ &

) P6-P10 P38-42
HAF fSZERE R HAFR B8 ZRES &5

HAE BixEEZERERT
SERIES %37~ &

HAER SRaEBZEEZERET R

SERIES %37 &
P16-P20 A5 P48-52

HAD s sH%ER

SERIES &%/~ &
P21-P26

R EAREZEHEERRT

SERIES &% an P53_56

HADREZASHMESHERS

SERIES #7517~ f
P27-P32

DG ERERZREFE=RT

SERIES %77~
P57-68



E S B CONTENTS E S B CONTENTS

W2 e A R L F 5

1]

,1ﬁF:%%§mA%mmm@m% AR E O\ = B9 38
N HZT-L : P69-75 ¢ 1AM P80
J| }
_ 5 T B\ BB ) L 8 ) 28 T A L 1) 38
HZT-L1/R1-L P76 HZT-FL s
AR T\ 7L 8 8 ) B o T B A L B B
HZT-H P77 HZT-FL1/FR1 ——
%ﬁé BTN RGETL S o T 7L 8y 8 1 B
D) L GNYYL P78 HZT-FH .
{
L EHEEASHE S ERTHEELERSE
'Th HZT-LM/RM - HZT-FC G it




BLOETBRELEARHMEAMHHANELTRE: KREEEARAA—BTANRE
BERERBENGABENES, CHRBPETUKRIERNEEZREHTE.

BFE®E

= -

15] Zﬁ%?& Power Grade
TR 138 #% 2 B

%

il % Eb i3 A

/)

S

&
v

Tjjz

£

SELECTION REFERENCE TABLE/RATIO SELECTION TABLE

> WY T " >y FTRE Y P T T -
o wod Fy T/t " €3 £y: €Y € €3 €3 €3 : oy IE ©
T = " ' _‘ _‘ ' " | 1 _‘ \ \ \ f 1
e 3 %mm"\uuﬁu“m“"m”"munm.—"«u_mu"._.”"..q..__"«.-"«.-".1.- %S
& w20 oy €¥ "7 T €9 gy €Y €Y T €Y €3 €Y oy =
BVEE  |ewesss s ks fisa ez R 000 S jicisoss o e S SRR, s s
mmm .&rw_..‘wn...ci LH\ "T__;"T _&u“m.:g L"\wﬁ _ : 2
00 Bl oy € O Sliey iy iy Dy ey O # o
S8, ([RS8 gy e3P igy O igyiey iy m ®
25£% L dRAS " | R | it Kl AN “ :
9558 [HY se | F% . - Fy £y s ey c
i Ed B0l aie 00 o ol
o Y N L ! T 1 ! ! LI ! L. = LN ! ! . ©
sHsS (B gy gy D DD igyiey T ey 6 s
- S Lo S S S S ) < W i o (SO DR R S
gs0n S | | | m ¥y 8y €Y | | | m
mmmW %munv".:".;_..;"ww"._:”\..._"\.-" £2 £y 3 ) O
5E2= L ! .\ o | t L | T, N - " .
g50d m"w“"aw"-w_.;"uw"._;"mu".,;".._.-"\.-"4.-"«.-" ’
520l Rel | " [ B " _ | | | | |
w2E¢< i B B R B e AR S 8 S S R g s
mem me"«m"«w"&u"&w"&u"au"«u_ﬂ«u" | .10 R
52359 RS IR S ER S R BN SN IR & BE & K ._..,."“w".:"._“ : €3
wmm,w Hon T3 #)  #) €3 gy gy £y €)Y €2 gy €9
0350 | | | " REARLE : " | | | |
t-..lp ||||| L I | o kT T T T T T ¥ - 0 [ - Tt TTT T YT T T T T T
MWWM mmmuummum\amswm..;m.:m.:mmwm.;m.;m\..m.:m...._
= c53a SR T T L2 52 'Y 38 ow BF SE IR | A8 | S | #9
858 | RO OO0 00 00"
2 n..htmm A Sn—— R I R (R o mmm e R R S N Jmmem e L
O Sco= WED F3 oy | " ' #y Fy Fy £y | " ¥y
oT | _ . . LN i ; ; _ 7 5 L
S 235 (ESfieniey D)D) i O 0 Yiey ! O
> = =g 820 _ 1 8 8: C9.8% . ¥, | | L |
° 332= HIRN¥3: ¢y ! | ey eyiey ey 02 O3 Uy
R S R o s Rha R B N
g g il imig Sie o EE L,
< = .2 " | " " | " " " | | | |
T %m"A"A"A"A"A"A"R"R"A"A"Z"D"Z
3 = i IR T = 2 e
5= | = -4 " | = =y : Pro i g | |
- © | | | " " | | " | | | |
c 5 | | | " | | " _ " | | |
L & L« 0 ¢ ¢ 5 & 5 & f 0
g e |@| |@ |@| |@ & ° ® ®
E| |@ e o |0 |0 @ ® ° o0 o |0
....m., | BN BN ) @& L] & ® o & [ BN | ® o & @
m.... & & ® (BN @ [ BN J ® o ® o bl ®
m.... ® & [ [ BN & [ BN J ® o o ® e & ®
m..... * » o [ BN ® ©° ® o ® 0o e ® e @ o
m.......... ® o ® o [ BN ) L B BN | 2% BN | D @
m.......... ® o ® o [ BN ) ® o o oL® o & [ BN ]
mm.......... ® o ® o . BN ) ® o o | BN AN ¥ SN ) [ BN ]
it
tm.......... ® o o o ® O ® o o [ BN BN BN BN ® o
m.......... o e ( BN BN BN BN BN BN BE BE BE BN BN BN BN BN J ® 0
m.......... oo ( BN BN BN BN BN BN BE BE BE BE BN BN BN BN J L BN
m.............. { BN BN BN AN BN BN B BE BE BE BN BN BN BN AN BN BN |
"o oo 00000000 000000 06000000 0 000 0o 0o
T o0 000 0 00 00 00 000 00 0 0000 O OGO OO O OO0 00
00 ®© 00 0 00 00 O 000 0000 000 00O O 00 0 00 0o
AE BN BN BN BN BN BE BE BN BE BN BN BY B B BN ¥g 5§ BN AN BE BY BE BE BN BN BN BN BN BN BN BN |
wﬁ o (=] == (=] o o =] o ] L] (=] o o =] o o (=] (=] ] =] (] =] (=] (=] = (=] o = (=] o (=] o
%3888 &g g8 g eg 2 ge s 88888 8§8B88§EFETE
1)
=
W z |3
W S = & ¥ s ~ = - o o © ™ w3 w ~ a v




ik 33 14 B9 i A

aa) BE 3%

HE P SR EhE R
:28 2EA%ET2NOT Nm BiEEGHTRZNRAAE, EEAFSGR, BEBHKNATEEBI1000K
2c
3
o —_— wamaE AN S 5ET28 Nm | EEMEHEET, BERHREERENTRENRANE.
e sHAE Nm BEEEHREEGET, TTREENBERZNANNE,
2ra 2aa
ED<60% EuvFog . T : ; 3 ;
twork <20mins BHMED AEENTN rpm | BUEHEANGEEAEET, TEFNEBAEE, HYEERFEE25CTHSE,
(Eq.1) ®RA ?"' ?“" ISR EEE/EEE, f88EEREHE1BI0T,
2rd * T 2ad
e e Nl e - o, | BERENBERRENT, TESOBASE, LYIEERERE5CTHE,
EHEEELE (Eq.2) FHEE#ELI (Eq.2) nzck B K NN SEE RS A 08E R 8 BBO0T..
I'IZH.I'IN
HEEARFETY N HEEARFEEY &R . WREREE R, SREGNES
HigTem _(Eadl gy figTen (Eq3) T ol & 1&l % - | m, mEzMBRAMMEE, mE (—)
e . aremin | g MARBHEHAEOEL, 1
& 58 A ik B K MAETF1/608, ERE1,
EﬁTEmax{EqA] ﬁm
1.ED = Wttty x 100%, t Sty
| B
i THRE: O E‘ﬁﬁ £ LT T T T
% Nm/arcmin | I 5 i 8 .
& 856 7 0 T 3 F $9 8 in2m & 48 10 7 4B 2 8 1 , S
N . 55, (R BRHA o ) 45 SLHT 0 £ 1 L T I — 15
SR ERILE N 48 5 o MAmEE, 0B (=) ERHEKR, B
" (Eq.2) 19 0 R M O FEL B A
I K R = = : i @ (=)
I58 5 /N L L - _;‘j“zaxla*Tzn*%x‘c*TZu*'"m*td*TZd -
s lom = +
e e L W R 2 K T R W 1 .
(Eq.3) RN F e R Z B Rt B '
SRR L FTE 2 T HF2rm 8- Tomax = T X1 XK1 el |
#m 7F2am  (Eq.6) KsB A 1= m) A Bd sl [E A N P
Ks AR B/ B @mh |
AHELBUR MG LT % > 1918 HF2rB Foa #lfs
L Pk r 1.0 0~1,000 Ch =
il 1,000~1,500
ok 1.3 1,500~2,000 HWEN %o IR ERER R AR (AR ) .
®—> 198 PR K i 1.6 2,000~3,000 £ RiBE B IHRERRIEEAEISEE (FERIERE ) .
v Bl: IPe5: E—EHFRTHEER, FEHFRRHKER,
SR 0 41 R - R - s sara
N B 8 (EAARMR, MERSSHSIRRNTR, WL,
 smmnil
gl T W dB(A) | ETEMEE AR ST,
TTeT
n
ssﬁf&?ﬁgﬁ;f;g;:wi L (Eq.5) aniRe kg.cm2 | SEHBERYEREASHEHRENSESN,
— ) I =1 (=] [y T
6 F o 3| XX Fan o XX P Mg XtgX Py U RES Nm | ARSI ERAEEI RIS, VR SLRRH L L EHRE  E R
FlENEABRBAFAUTAR - Na X ¥ Ne X L #1154 X1
HH InBEEhEIEME 2 PR BN/ N NAE, INRSTEBIEEEE L BRI EER SR
m - ; R5B®) 5146 Nm i
B Mo Xt X Fopy + Mo XL X Py +np Xt X Fppy o
J 2am
JIAnEs T U SRR 25C S LM SRS, 000rpm A8, 40 SR B S HE ) B A\ M LNZIB3, 000rpm,
. - B 1 320 L S O R N B T




ERESNER o

HAB SERIS ORDERINGCODE

High precision and high torque series HAB -060-10 - S1 - P1- %if - (014x30/ ©50x3/4-070-05.5)
. L4 2 R
HAB series PRI D HEHRDS
Motor Type Motor manufacturerm and model
BEREL PO: BRESHE Pl BETR P2: HRAETR

Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

H g ST, THEIE S2irkm, AHEE S3IHHAT

Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Qutput for holes

il tk #Ratio

B35, 3,4,5,7,8,10
WH. 12,15,16,20,25,28,30,35,40,50,60,70,80,100

BIEHL 2 % Type HAB 042,HAB 060,HAB 090,HAB 115,HAB 142,HAB 180,HAB 220,HAB 330

7= & & #R(The product name)

IR EEEEER

Reducer moment of inertia

HAB 042 |HAB 060 (HAB 030 HAB 142/ HAB 180 | HAB 220 HAB 330
3 0.03 3.25 9.21

0.16  0.61 28.98 69.61  94.31
M4 BE 43 BE Performance characteristics 4 003 014 048 274 754 2367 5437 77.45
‘B2 B E e Rarnea 5 003 013 047 271 7.42 2329 5327 7655

Gear backlash is less than 1arcmin, accurate positioning

TR g SRR A 1 7 0.03 0.13 0.45 2.62 7.14 22.48  50.97 72.12
RE S 1 I A R 4L AR Adopt one-piece dualsupport structure domain design, which : ) . ’ ) ' ' :
%m—%ﬁﬁﬁﬁ%%ﬁﬁﬁﬁ, R AR S W% A 4B greatly improves rigidity and torque Q 8 0.03 0.13 0.44 258 7.07 22 59 50.84 71.92
HHNES *High output efficiency ?s‘ﬁ]ﬁiﬁ kg/cm2 ?\ : . : : : 2 ; :
S AWBERERERIT% 47 eahigiencyadbliiond <'<</ 10 0.03 013 044 257  7.03 2251 5056  70.11
ERE ‘Low noise Q

guse “Grease lubrication free of maintenance \ 12-40 0.03 0.03 0.13 0.47 5 71 7 49 93 99 685
*2) (=l & . . . . . . . .
h BE T 7R S A Use high-viscosity, hard-to-separate grease to effectively & 2

! BB 3 = 2 bl (=TT

EABWE. THMOERE, ARMLRRERR. & prevent grease leakage. In No need to change the grease during % 50-100 0.03 0.03 0.13 0.44 257 7.03 29 51 68.5

EREaHNETERBEE, the life of the product,




,t— - B ]
ﬁﬁlﬂi*ﬁ%/Spemflcatlons Table

140 1000 1300 5000
4 18 55 145 310 550 1180 1800 10000
5 22 60 160 320 620 1200 2050 8000
1 - 20 40 145 300 580 990 1810 8500
8 15 40 125 260 520 960 1700 5700
10 15 42 110 210 430 1000 1650 5600
12 20 55 140 250 490 1050 1300 9800
15 20 55 140 _QSX\ 500 1020 1300 10800
16 19 50 140 245 520 1020 1700 10800
WEHLHAETN 20 19 50 150 310 600 1200 1800 10800
Normal Output Torque Nm
25 22 60 158 330 580 1200 2000 8550
3 28 22 50 465 320 660 1200 2000 9500
30 22 55 165 330 660 1200 2000 9900
35 22 bh 165 330 660 1200 2000 10800
40 22 b5 165 330 660 1200 2000 7890
50 22 55 165 330 660 1200 2000 6720
70 19 40 145 300 550 1010 1850 8200
80 18 40 120 280 510 1010 1700 8200
100 15 42 110 210 440 1080 1950 8600
DRy egiiTee Nm 1,2 3~-100 3fEENE M tH S 4%6/3Times of Nom Output Torgue
AEHABELN pm 1,20 3-100 4000 4000 4000 3500 3000 3000 2000 1500
R fisenie rpm 1,2 3-100 6000 6000 6000 6000 6000 6000 4000 3000
T s S Sl S
TR P ;}:)n.,in 1 3-10 =3 =3 =3 =3 =3 =3 =3 Ca%
Precision Backlash P1 ) 12-100 =5 =5 =5 =5 =5 =5 =5 =5
ey aromin 1 3-10 =5 =5 =5 =5 =5 =5 =5 =
Precision Backlash P2 2 12100 =7 =7 =7 =7 =7 =7 =7 =7
LRIt Torsional Rigidity Nm/arcmin 152 3~100 3 8 14 2 50 145 230 350
BRERAFAE N 1,2  3-100 780 1540 3270 6720 9500 14500 50000 93000
¥ i A rate N 1,2 3-100 350 785 1650 3360 4710 7300 26000 43500
{8 % ¢5/Service Life hr 1:2 3~100 22000h
o nMMERNEfcency o, L 3~10 =97%,
2 12~100 =094%
— " 1 310 0.5 13 87 z%¢) 164 27 49 85
2 12-100 0.8 1.9 55 9.5 19 34 62 110
BRAR ersire < 1,2 3-100 A\ (-15T~400T )
i #@/Lubrication Nm/arcmin 1 3~-100 & i2HAS ( Synthetic Grease )
B P4 41/Protection Ciass 1,2 3-100 - IP65
2245 f/Mounting position 152 3~100 f£EZ71E ( Any Direction )
Nog Lovi " CPERR)  dp(a) 12 3-100 =58 <60 <62 <63 <65 <68 <70 <75
1.tk #(i=Nin/Nout) Note :Ratio(i=Nin/Mout)

2 HFEE 00rpmist, ERFE UM P OAE Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft.

o
] i —60% of T : : 511 ; Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation,
3R AIME N ET20=60% of Tanor EEHES, ERHFH110000rs, Gl sy

03\

MODEL:HAB

B E 1-Stage
b 8: 3,4,5,7,8,10
T A\ INPUT iy ¥ OUTPUT
A2 i Al
C3 4

| J—i 52 S1
Isa—

D4
ﬁ}_?)_‘
o
[
[ 1]
L1
|
|
al
H
2

Cc5 C2

H B =L S2 B S3

=F

Mg Specifications(Unit-mm)-
Rsize

®12(13) 16(14) ©22(20) ©32(25) ©40 ‘\\C"’
®35 ®50 ©80 ®110 ®130 ®160 ©180 ©290
o8 (=11) o14(=19) o©19(=24) ©24(=35) ©35(=42), ©35(=50)  ®55(=55) ©55(=65)
©30 (30-50) ®50 (30-70) ®70(50-110) ®110(50-130) ®114{3(35-180) ®180(95-200) ©200(180-255) ®250(215-320)
50 ®70 ©100 ©130 A 165 ©215 0250 ©370
4-03.4 4-05.5 4-07 4-09 4011 4-013 4-017 4-022
©45(30-70)  ©70(70-130) ©80(70-145) ®145(70-165) ®200(90-230) G200(110-255) ®235(145-255) ®300(180-360)
4-M4X8L 4-M5X10L  4-MBX12L  4-M8X25L  4-M12X25L  4-M12X30L  4-M12X30L  4-M16X35L
M4X0.7P M5X0.8P M8X1.25P  M12X1.75P  M16X2.0P  M20X2.5P M20X2.5P M20X4.2P
19.5 28.5 36.5 51 79 82 105 120
5.5 7 10 12 15 20 30 25
4 6 8 12 18 15 20 30
26 37 48 66 97 105 138 150
4 5 7 15 11 7 7 15
30 38 A 47.5 59 83 86 120 118
86.5 120 149 185 257 285 377 461
3 <X s 5 5 6 7 5
14 25 32 40 63 70 90 110
15\ 18 24.5 35 43 59 79.5 95
- 5 5 6 10 12 16 20 25
42 C~ " 60 90 115 142 180 220 330
42 60 90 130 180 180 220 285
12 16 20 32 35 42 60 70
8 14 20 25 28 28 90 100
[ He | 3 5 6 10 10 12 18 20
E(OESHATRETERT (MESaERT, MNote 1: Inside of()isthe optional range of sizes outside of ()isthﬁ standard size s.
o ;&E*ﬂmxmﬁ]’u% EF‘EFLDUJ\*H‘EE Note 2: The reducer output shaft size and length can be customized for custmers.
30 5\ R T AT R IR P LR < AR AR R Mote 3: The input size can be customized according to the customer's motor size

y/ 04



MODEL:HAB

2 2-Stage

i N\ 3 INPUT

HE . S1

LL#: 12,15,16,20,25,28,30,35,40,50,70,80,100

7
3 c4
ol
| L 52 [vof
- T
= 8 :P;_j €3 2
|/
5 c2
C6
I $2 BHY_ R
D9 D9
o
7o)
#D1

iﬂ?ﬁ?& SpecificationS(Unit:mm):

HABOSO-L2 |HAB090-L2 |HAB115-L2
_ ®12(13) @16(14) ©22(20)  ©32(25)
35 ®50 ®80 ®110
o8 (=110 ©14(=19) ©19(=24) ©24(=35)
©30 (30=50) ®50 (30-70)
©50 ®70 ©100 ®©130
[ e EEEX 4-05.5 4-07 4-09
©45(30-70) ®70(70-130) ©O0(70-145) ®145(70-165)
| ps  EEEEEH 4-MEX10L  4-MeX12L 4-MBX25L
BT vexo7r wmsxo.sp MBX1.25P  M12X1.75P
19.5 28.5 36.5 51
5.5 7 10 12
26 37 48 66
30 38 475 59
114 148 189 233
; : : ;
14 25 32 40
15 18 24.5 35

60 90 115

60 90 130

16 20 32

14 20 25

& 6 10

S5 HIERRT,
ik

Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Mote 2: The reducer output shaft size and length can be customized for custmers.

40
130
©35(=42)

55
®160
©35(=50)

i H B OUTPUT
Al

53

Vi

@75 ®90
180 ® 290
©55(=55) ©55(=65)

H2

&

HAB142-L2 |HAB180-L2 [HABEEO-LE HAB330-L2

©70(50-110) ®110(50-130) ®114.3(95-180) ® 180(95-200) ©200(180-255) P 250(215=320)

165 ©215 250 ®370
4-@11 4-013 4-017 4-m22
©200(90-230) @200(110-255) ®235(145-255) @ 300(180-360)
4-M12X25L 4-M12X30L 4-M12X30L 4-M16X35L
M16X2.0P  M20X2.5P M20X2.5P M20X4.2P
79 82 105 120
15 20 30 25
18 15 20 30
97 105 138 150
1 7 7 15
1 120 118
321 347 441.5 556
5 \H)Y &6 7 5
63 70 90 110
A4 59 79.5 95
12 16 20 25
T 142 180 220 330
180 180 220 285
35 42 60 70
28 28 a0 100
10 12 18 20

Note 3: The input size can be customized according to the customer's motor size

RASHERNERM

Corner high precision and high torque series

T BE 45 Bh

[ 12 R K

B PR E F3arcmin , EfIIERE

RS RS B R A

FA—BALZHEEERG, BXRSHERAE
WHBES

L AWFEHEERNIT%

EAR

EAMERELHER

“iHl R T e A

FRASHE. ASoenERiE, FahbBEREfR &
ERSGHANESERBEE,

RETEEF

HAREEREEARER 2GR, SRERATRROES
i, HHETESH

HABR series

|

Performance characteristics

*Low return clearance

Gear backlash is less than 3arcmin, accurate positioning
"High torsional rigidity and torque

Adopt one—piece dual support structure domain design, which
greatly improves rigidity and torque

*High output efficiency

97% efficiency at full load

“Low noise

Use helical gears for quiet operation

“Grease lubrication free of maintenance

Use high-viscosity, hard-to-separate grease to effectively
prevent grease leakage. In No need to change the grease during
the life of the product,

" Flexible installation space

The right-angle reducer uses spiral bevel gears, and the motor

connection can be bent at 90 degrees, saving installation space

y/ 06




MBS
HABR SERIS ORDERING CODE

HABR-060-10 - S1 - P1-5iE - (©014x30/050x3/4-070-05.5)

AT *

BlHHRRERT
SirRS DkHERRES
Motor Type Motor manufacturerm and model
HHEL PO: SHBEER Pl HBELTMH P2: tRAEERK
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

H A g S1:SLibEh, TiRiE - S2:ndm, FEE S HHAT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes

tk #Ratio
B35, 3,4,5,7,8,

8,10,14,16,20
NF5: 15,16,20,25

14,
,28,30,35,40,50,70,80,100,120,140,150,180,200

BIEHLF % Type HABR042,HABR060,HABR090,HABR115,HABR142,HABR180,HABR220

7= & #(The product name)

HENBEER

MOMENT OF INERTIA TABLE

HABR 042 | HABR 060 | HABR 090 | HABR 115 | HABR 142 | HABR 180
3 0.09 0.35 2.25 6.84 23.4 68.9

HABR 220

135.4
1 4 0.09 035 225 684 234 689 134
5 0.09 035 225 684 234 689 134
<X
7 0.09 035 2.5 ‘<,§34 234 689 1354
)
8 0.09 0.35 225 6.84 23.4 68.9 135.4
#HiREx kg/cm2 CA>
10 0.09 035 ) 225 684 234 689 1354
12-40 0.03 0.07 1.87 295 21.8 65.5 119.8
?
50100 0.09 000 035 187 684 234 689

i o
BRI 1 88 T28=60% of TenoT ZELEESE, {FM A4 011000hrs,

R H AIET2N Q&
Normal Output Torque Q'It?\‘
i)
gnﬁ%ancy Stop Torque Nm 12
HiE W N EnIN
Ncrngi prutnSpeed rem 1.2
B
g rpm 1.2
) 1
Moy ekash PO armin
9
P1 ;
Prﬁ:ﬁgn Backlash P1 arcmin 5
HEEMEP2 : 1
Precision Backlash P2 RS B
¥ [ £/ Torsional Rigidity Nm/arcmin 1.2
FEiFEmAF2rE3
Max%adial Ftr:prce N 1.2
=iF HzatiB2
Maxﬂﬁal Foarce N 1=2
{& F #F fiv/Service Life hr A_Q
X #n/Efficiency o X 1
c X/ 2
1
&/ Weight \ kg
ERRE ;[. - =
Operating Temperature (' A\\ T 12
8/ Lubrication 1.2
fi#H & & /Protection Ciass g
2245 [/ Mounting position 1.2
L) 1=3000rpm, ¢
RaLrrney || a6 || 4.8
Ltk #i(i=Nin/Nout)

#1o00rpmit, &R T HHiEdhOfE

80
100
120
140
160
200
3~200
3~200
3~200
3~20
15~200
3-20
15~200
3~10
12-100
3~200
3~200
3~200
3~200
3-~20
25-~200
3-20
25-200
3~200
3~200
3~200
3~200
3~200

{3k /Specifications Table
3 20 55 240 480

140 1000 1300
18 - 55 145 310 550 1180 1800
22 60 160 320 620 1200 2050
20 40 145 300 580 1100 1800
15 40 125 260 520 990 1700
15 37 110 230 510 1080 1650
14 40 140 305 560 1120 1850
15 40 125 260 520 990 1700
15 27 60 165 400 660 1250
20 55 140 250 500 1050 1300
19 50 140 245 520 1020 1700
19 50 150 310 580 1080 1800 .
22 60 165 340 580 1200 2000
22 60 165 340 580 1200 2000
22 60 165 340 650 1200 2000
55 60 165 340 650 1 20&)) 2000
22 60 165 340 650 1200 2000
22 60 165 340 650 1200 2000
19 60 165 340 650 1200 2000
18 60 165 340 650 1200 2000
18 60 165 340 650 1200 2000
- -~ 155 315 610 1100 1950
- - 145 310 560 1100 1820
= = 120 . 310 500 1000 1650
= = 110 305 450 980 1750
S%ﬁﬁﬁtﬂﬁiﬁ_@%‘éﬁ of Nominal Output Torque

3000 3000 3000 3000 3000 3000 2000

6000 6000, 6000 6000 6000 6000 4000
=4 =4 =4 =4 =4 =4 =4
=7 > =z =7 =7 =7 =7
=6 =6 =6 =6 =6 =6 =6
=0 =9 =g =9 =9 =9 =9
=8 =8 =8 =8 =8 =8 =8
=11 =11 =11 =11 =11 =11 =11
3 8 14 25 50 145 230

780 1540 3270 6720 9500 14500 50000

350 735 1650 3360 4710 7300 26000

22000h
=95%
=92%

0.9 2.1 6.4 13 25 51 83
1.2 2.5 8.8 18 30.1 54 95

(-15C+90C)
=& iE B BE ( Synthetic Grease )
Ip65
£2=7A Mm@ ( Any Direction)
= 61 =63 = 65 = 68 =70 =72 =74

MNote :Ratio(i=Nin/Nout)

MNote :When the output rotation number is 100 rpm, it acts on the center position of the output shaft.

Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation,

and the service life is 11000hrs.

y/ 08




MODEL:HABR

B [1-Stage
tb®r: 3,4,5,7,8,10,14,16,20

WA INPUT C6
A2 Ch
07 4
Bl capgetS
C) =
s

(s
o

C10

CE i |
' 8
9

Higgka: 51 L s2

D9 —
Ts? ,

oDl
#M#&F Specifications(Unit:zmm):

R=t/Size | HABRO42-L1 HABRO60-L1 HABR090-L1 | HABR115-L1

oz q

@Dl

. 53

Dg

it B OUTPUT

Al

H1

=

HABR142-L1 HABR180-L1| HABR220-L1
D40 75

®12 (13) ©16(14) ©22(20) ©32(25) 55

g | 035 , ~Jos0 80 ©110 130 ©160 ®180

B os(=11) ®14(=19) ©19(=24) ©24 ( =35) ©35(=42) ©35(=50) ©55(=55)
D N

| D4 LD fPO:‘N ®50 (30-70) ®70(50-110) ®110(50-130) ®114.3 (95-180) ®180 (95-200) mzoonso,lsAL
50 ®70 ©100 ® 130 ©165 ®215 250
D6 4-03.4 4-05.5 4-06.6 4-09 4-011 4-013 4-017)

D7 ®45(30-70) ®70(70-130)  ®90(70-145) ®145(70-165)  ©200(90-215) @©200(90-300)  ®235(200-300)
| D EEPEVIVER 4-M5X10L 4-MeX12L 4-MBX25L  4-M12X25L  4-M12X30L  4-M12X30L
B vixo7p M5X0.8P M8X1.25P M12X1.75P M16X2.0P M20X2.5P M20X2.5P
19 28.5 36.5 51 79 82 105
5.5 7 10 12 15 20 30
4 6 8 12 18 15 20
26 37 48 66 97 105 138
(85.5) (117) (157) (194) (255) (289) (346)
(111.5) (147) ( 202 ) (267.5) (356) (387.5) (494.5)
(3.5) (5) (7) (10) (1095 (10) (10)
(30) (32) (47) (62) (83) (118) (119)
69.5 81.5 102.5 130 L7165 213.5 268
95.5 105 142 180 221 276.5 334
42 60 90 1ms ALY 142 180 220
42 60 90 130 142 180 220
3 2 3 5 5 6 /

s2 14 25 32 40 63 70 90
83 15 18 24.5 35 43 59 79
=TS 5 5 6 10 12 16 20
12 16 20 32 35 42 60

H1 8 14 20 25 28 28 90

H2 5 6 10 10 12 18

7

MODEL:HABR

& F2-Stage

EL®g: 15,16,20,25,28,30,35,40,50,70,80,100,120,140,160,200

8§ A ERINPUT 6 B L g OUTPUT
A2 C5 Al
j D7 C4
{s)
5 52
[ ]
=
® SIE =
® e )
D8 c2 L 2]
18
(O
Dy | S
D4
H1
S | L, s2 BHY MR s3
M — ng H2
L &
@ N
1
for
D1 ®D1 W

M H& & Specifications(Unit:mm):
R~t/Size

= ®12 (13) ©16(14) ©22(20)
035 50 ©80
D3 o8(=11) ®14( =19) ©19(=24)
BT 030 (30-50) ©50(30-70) ©70(50-110)
D5 ®50 ®70 ®100
B /o034 4-05.5 4-06.6
©45(30-70) ©70(70-130)  ®90(70-145)
D8 4-M3X8L 4-M5X10L 4-MeX12L
[ Do | M4X0.7P M5X0.8P M8X1.25P
19 28.5 36.5
5.5 7 10
4 6 8
26 37 48
(113) (134) (175)
(139) (175) (242)
c7 (3.5) (51, (7)
cs (30) 82) (47)
69.5 _{sis 102.5
95.5 105 143
a2  _\ 60 90
42 60 90
FA ;
14 25 32
15 18 245
12 16 20
8 14 20

HABR042-12 HABR060-L2 | HABR090-L2 | HABR115-L2 | HABR142-L2 | HABR180-L2| HABR220-L2
©55 ©75

©32(25) @40
®110 @130 ©160
©24(=35) ©35(=42) ©35(=50)
©110(50-130) '©.114.3 (95-180) ®180(95-200)
@130 ® 165 215
4-69. 4—o11 4-013
©145(702165)  ©200(90-215)  ®200(90-300)
4-M8X25L 4-M12X25L 4-M12X30L
M12X1.75P M16X2.0P M20X2.5P
51 79 82
12 156 20
12 18 15
66 97 105
(227) (282) (322)
(315.5) (420) (448)
(10) (10) (10)
(71 (83) (83)
130 165 2135
180 221 240
115 142 180
130 142 180
5 5 6
40 63 70
35 43 59
10 12 16
32 35 42
25 28 28
10 10 12

@180
®55(=55)
@©200(180-255)
©250
4-017
@©235(200-300)
4-M12X30L
M20X2.5P

105
30
20
138
(383)
(530}
(10)
(150)
268
296.5
220
220

90
79
20
60
90
18




mERET R

HAF series

HAF series

Taiwan technology

T BEFF B

*[6 3% A BR K

# e PR 1K F4arcmin , B

TWHBES

ERWEHURERS%

R E

“MAETER RS

ERBHE. TEIBNERE, FRMLERRERRE. &
EaEalARTERRBRE,

11 \§

Precision low noise series

HAF series

Taiwan technology

Performance characteristics

“Low return clearance

Gearbacklash is less than 4arcmin, accurate positioning

“High output efficiency

95% efficiency at full load

“Low noise

*Grease lubrication free of maintenance

Use high-viscosity, hard—to-separate grease to effectively

prevent grease leakage. In No need to change the grease during

the life of the product,

BRI
HAF SERIS ORDERING CODE

HAF -060-10 - S2 - P2- §i - (014%30/050x3/4-070-05.5)

R HRERT

DirES DixrHERRES

Motor Type Motor manufacturerm and model

ERER P1: BRLEME P2: WL
Backlash Class Precision Backlash P1 Standard Backlash P2

tH 77 4 R S1:S i, THIE S2i4rkEm, ARIE SSHEHATL

Qutput Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Outputfor holes

Ltk #Ratio

$£1:3,4,57,8,10

W15:12,15,16,20,25,30,35,40,50,70,100
£75:60,64,72,80,90,100,120,144,150,160,180,200,240,258,288,320,384,512,600,800,1000

BIEML F % Type HAF040,HAF060, HAF080,HAF090,HAF120,HAF160

7= S & ¥ (The product name)

R E I IEE R

Reducer moment of inertia

-.. HAF040[HAF060|HAF080HAF090|{ HAF120 | HAF160

3 Cﬁ()az 338 33 1174 33.74

4 015 062 321 3.2 1,22 31.95

1 5 015 0.61 325 3.5 il 31.95

HHEEE  ko/om2 7 0.15 061 325 3.5 11.05 31.01

@‘ 8 0.15 0.61 3.25 3.25 11.05 31.01
/6» 10 0.15 0.61 3.16 3.16 11.03 31.01
12-40 0.15 0.61 3.16 3.16 11.03 31.01

50-100 0.15 0.61 3.16 3.16 11.03 31.01




K H# IR K /Specifications Table
3 15 15 70 70

HAF120 | HAF160
420

125
4 14 32 100 100 230 550
1 5 13 33 100 100 220 550
7 13 33 80 80 180 410
8 13 33 80 80 180 410
10 10 25 70 70 165 340
FEH L BET2N Nm 12 15 15 70 70 110 420
Normal Output Torque 15 15 3?Q;<\:' 00 100 530 423
16 15 32 110 110 260 650
20 124 a2 110 110 260 650
25 14 32 105 105 250 560
2 30 13 32 110 110 250 560
35 13 35 102 102 250 560
40 12 35 106 106 260 660
50 14 35 105 105 250 560
70 12 30 105 105 210 520
. 100 10 25 90 90 195 570
?n?:r%ﬁicy Stop Torque ‘N&% 1.2 3~100 & ENE K H 7146/3Times of Nominal Output Torque
ffnﬁf\,ﬁﬁ' ;?eed r@ [Tee 3~100 3500 3500 3000 3000 3000 2500 _
s st Y “tpm 1,2 3-100 6000 6000 5000 5000 5000 4000\
HEEEP O . 1 3-10 =4 =4 =4 =4 =4 =4
Precision EacklacD 5 oAl e - 25 = i o
WA et | 3-10 =8 =g =8 =8 =g =g
Precision Backlash P2 2 12-100 =10 — =10 =10 =10 =10
MRt/ Torsional Rigidity Nm/arcmin 12 3~-100 4 3 9.2 9.2 15 50
RN Maxhadi bots N 1.2 3~100 305 680 1770 1770 3100 6480
RN Mathuial Force i 1,2 3-100 160 345 880 880 1550 3305
B #Fdr/Service Life hr 12 3~100 20000h
%% n/Efficiency % ! 810 @
2 15100 =>94%
Hi®/Weight kg ! 810 gre 14 (§/3 2 8 i3
2 15~100 1.05 1.3 3.6 3.6 9 25.2
gﬁpfffgmmm T e 3-100 d\\ ‘ (-15T~+90T )
§#7@/Lubrication 12 3~100 £ & /B mES ( Synthetic Grease )
P # % 4 Protection Ciass 1,2 3-100 IP65
4477 AMounting posiion 1,2 3-100 fE&H 1 ( Any Direction )
ﬁ,ﬁ_ﬁﬂmmﬁm dB(A) 1,2 3-100 = 58 =60 =64 =64 =67 =70

1.LE&(i=Nin/Nout)
2.5 E00rpmET, 1ER TP OMIE.,
3.EANNE N BET28=60% of TenoT, EEEH, # B % 410000hrs,

Note :Ratio{i=Nin/Nout)

the service life is 10000hrs.

Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft,
Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

MODEL:HAF

B 1-Stage
tk#: 3,4,5,7,8,10

iify A 2% INPUT iifr H 3iOUTPUT
A2 7
c4 (3
€l
# S2
- H 120
@ T || T\
| - { o i el =
B =l
\ \S@ S1 T
A= H |
—] 2
5-'—-:—
\D7 \_ D8 6

il S1 M H TR - 52
1 I
@Dl PN
M #& T Specifications(Unit:mm):
HAF090-L1 | HAF120-L1 HAF160-L1
$12 (13) $14 (16) $20 (22) $20 (22) $25 (32) ¢ 40
| D2 Y $ 50 ¢80 680 $110 ¢ 130
68 (<11) ¢14(<19) ¢19(=<24) 619 (=24) $24 (<35) $35 (<42)
$30 (30-50) 50 (30-70) 70 (50-110) $70 (50-110) ¢ 110 (50-130) ¢ 114.3 (100-180)
¢ 48 ¢ 70 ¢ 100 100 ¢ 130 $ 185
B 4445 4-$55 4-$65 4-¢65 449 4-¢10
$45 (45-70) 70 (70-130) 90 (70-145) 90 (70-145) ¢ 145 (70-165) 200 (90-230)
B 4-maxsL 4-M5x10L  4-M6x 12L 4-M6 x 12L 4-M8 x 16L 4-M12 x 24L
B vaxo7p M5x1.0P  4-M6x12P  4-M6x12P  4-M10x15P 4-M16 x 2.0P
18 28 36 36 50 80
3 3 3 3 4 5
4 10 10 10 15 18
225 32 40 40 55 86
4 R 6 7 10 10
32 33 47.2 41 68 82
88 . 110 140.25 155 212 293
P 2 3 3 5 7
1aC> 25 30 30 40 65
135 16(18) 22.2(24.5) 22.2(24.5) 28(35) 43
== 4 5 6 6 8 12
42 60 80 90 120 160
42 60 80 90 120 178
[T By = =) = : ide of()isthe optional range of sizes outside of () is the standard size s.
SRR oo 2 Therducer g SR andlengih can b cstomizea o laimers.

Y/ 14




MODEL:HAF BliZ=HXERS

EEI:?.g?—1Szt,a195?20,25,30,35,40,50,70,1oo Round flange precision reducer series

i A\ S INPUT i i OUTPUT
A2
Cl1 e
\ i A
% \ | 1 W
T

HAE series [

| 2 ==
\ \% @ S1 T
le. ©H H
~—] 2 i
\m c6

BB S M T 52

S3
Y

\

Il

Pl @Dl
& F Specifications(Unit:mm): HAE series
=
B c12(13) $14 (16) $20 (22) $20 (22) $25 (32) ¢ 40
D2 $26 $ 50 ¢ 80 ¢ 80 $110 $130 )
D3 68 (<11) ¢14(<19) ¢19(<24) ¢19(<24) $24 (<35) $35 ( <42) .
BT 630(80-50) 50 (30-70) 70 (50-110) ¢70 (50-110) ¢ 110 (50-130) ¢ 114.3 (100-180) 28 S
| ps YT 670 $ 100 $ 100 6130 $185
B 4045 4-$55 4-$65 4-$65 4-$9 4-$ 10
645 (45-70) $70 (70-130) ¢90 (70-145) $90 (70-145) ¢145 (70-165) 200 ( 90230 )
P 4-Max8L  4-M5x10L  4-MBx12L 4-M6 x 12L 4-M8 x 16L 4-M12 x 24L
B v4xo07P M5 x 1.0P 4-M6x12P  4-M6x12P  4-M10x1.5P 4-M16 x 2.0P
18 28 36 36 50 80
3 3 3 3 4 5
4 10 10 10 15 18 M B 4 B Performance characteristics
225 32 40 40 55 86
4 4 6 7 N\b 10 10 “[B] 32 5 PR AR “Low return clearance
30 33 472 41 68 82 #5885 PR F4arcmin | & (kSR Gear backlash is less than 4arcmin, accurate positioning
88 127 159.75 180 244 293 RS “High output efficiency
2 o 3 3 B 7 ] 5 oy . 95% efficiency at full load
14 25 30 ,« 30 40 65 SANBHYUFIED5% “Low noise
135 16(18) 20.2(24.5) 90 .2(24.5) 28(35) 43 RRE "Grease iubiicationfree of maintenance
n 4 5 6 6 8 12 i T R SR M Use high-viscosity, hard—to-separate grease to effectively
42 60 85 90 120 160 ERASHE. A5oBE0HEE, BRMHIEEBERE. & prevent grease leakage. In No need to change the grease during
42 60 85 90 120 178 EmEGHANETEIREBEE, the life of the product,
H1 (ESRITHREZER T OVESH HEERT, Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
L T e NEla2 e s chous e avalta o ar ROt can o clsitn o s




RS B #5R H%/Specn‘lcatlons Table
AAE SERIS ORDERING CODE

HAE -060-10 - S2 - P2- 5i& - (914x30/9050x3/4-070-05.5)

125
4 14 32 100 100 230 550
EALHEHRRRT 4 5 13 33 100 100 220 550
SiAAE DkHERRES 7 13 33 80 80 180 410
Motor Type Motor manufacturerm and model 8 13 33 80 80 180 410
%Fﬁ%ﬁ& P1: ﬁg?ﬁb e P2: ﬁ;ﬁﬁpﬁ 10 10 25 70 70 165 370
Backlash Class Precision Backlash'P1 Standard Backlash P2 N
HEHHMET2N ) Qk 12 15 15 70 70 110 420
H ST:Suldl, Tl SoARAS, RE S3HMHAT ot Guigat Torais X 15 15 32 100 100 230 423
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Qutput for holes (ﬁ 16 = 35 110 110 260 650
4
Lk #Ratio r
B%. 3457810 N\ 20 12 32 110 110 260 650
Wi: 12,15,16,20,25,30,35,40,50,70,80,100 & 25 14 32 105 105 250 /(5&1
£75: 60,64,72,80,90,100,120,144,150,160,180,200,240,258,288,320,384,512,600,800,1000 % 2
30 13 32 110 110 250 560
BiEH R 5] Type HAE040,HAE060,HAF080,HAE090,HAE120 HAE160 35 13 35 102 102 250 560
40 12 35 106 106 260 660
T (The product name
FFamAf(The p ) 50 14 35 105 105 250 560
70 12 30 105 105 210 520
L A 1 R |
R d ." t f - t - Efeﬂﬁcy Stop Torgus Nm 1,2 3-100 STEFEHIH #156/3Times of Nominal Output Torque
eaucer hnromentortinertia fj:f‘l’:pﬁ“;:ee y rpm 1,2 3-100 3500 3500 :i{@\ 3000 3000 2500
N maa rpm 1,2 3-100 6000 6000 _<_5000 5000 5000 4000
.Input Speed
By k¥ |HAE040| HAE060 |HAEO8O[HAE090| HAE0120 [HAED160 o i I R R e Uy 2 &5 =3 o
Precision Backlash P1 LU 2 12-100 =6 E\Ei =6 =6 =6 =6
11.74 33 74 = o~ = = = =
W E P2 i 1 S =B <'O=3 =8 =8 =8 =8
Precision Backlash P2 2 12-100 =10 =10 =10 =10 =10 =10
4 0.15 0.62 3.21 3.21 11.22 31.95 # M/ Torsional Rigidity Nm/arcmin = 1,2 3~100 1.1 3 9.2 9.2 15 50
HFE [ Max Radial Force N 1.2 3-100 305 680 1770 1770 3100 6480
1 5 0.15 0.61 3.25 3.25 1n.n 31.95 EiFHEH Max Axial Force N 1,2 3~100 160 345 880 880 1550 3305
A% & /Service Life hr 1,2 3~100 20000h
EHEER  ko/om2 7 0.15 061 325 3.25 11.05 31.01 1 o —
Q P& n/Efficiency LT3 —. =
Y\ N\ 2 15~100 =94%
8 0.15 0.61 (. 5 3.25 11.05 31.01 %(‘1 3-10
- p g 0.7 1.2 3 = 8.5 215
[} E#/Weight %
2 15~100 1 1.4 3.6 3.6 9.5 26
10 0.15 0.61 3.16 3.16 11.03 31.01 . ~
> Operatmg Temperature ,« T 1.2 3~100 (-15T~+90T )
& /Lubrication 1,2 3~100 & MigidmAE ( Synthetic Grease )
2 12-40 0.15 0.61 3.16 3.16 11.03 31.01
534 S1/Protection Ciass 1,2 3-100 IP65
50-100 0.15 0.61 316 316 11.03 31.01 Ze477 7/Mounfing position 1.2 3~100 f£E7 @ ( Any Direction )
- ' : : ' ' : W ( n1=3000rpm, %0 ) z _ z >
Ny dB(A) 1,2 3~100 =58 =60 =65 =65 =67 =70
; %ﬁg‘;g;négr%ﬁ)ﬁ. {ER Fi e RO S, ngg i?\rit;(it?:iS{JT;uTlotation number is 100 rpm, it acts on the center position of the output shaft.
3.5 A niE A BET2e=60% of TenoT, EEL S, (B HF & 310000hrs, Note :The maximum accelaration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 10000hrs.

y/ 18




MODEL:HAE MODEL:HAE

B [g1-Stage & [r2-Stage
tb8%: 3,4,5,7.8,10 EL8%: 12,15,16,20,30,35,40,50,70,100
i )\ﬁ;r‘j INPUT 7 i i 3w OUTPUT i A\ 2§ INPUT c7 iy t 3 OUTPUT
Al . .
(:[]-4 L= C(l'.)1 &
52 -
— S =2 _ ]
s1 RS 51 B
C2 C5 c2 Ch
(841 C6
BHY
; L,
R S1 /W HiliEaR: sz HEE R S Vﬂ Hyflsat, s2 /,4\/(2
2 r @ ] J/
# & F Specifications(Unit:mm): ##%& 3 Specifications(Unit:mm):
HAE040-L1 | HAE060-L1 | HAE080-L1 | HAE090-L1 HAE120-L1 HAE160-L1 HAE040-L2 | HAE060-L2 | HAE080-L2 | HAE090-L2 HAE120-L2 HAE160-L2
612 (13) ¢ 14 (16) $20 (22) $20 (22) $25 (32) ¢ 40 $12 (13) $14 (16) $20 (22) $20 (22) $.25 (32) ¢ 40
b28 7 440 260 260 980 o130 426 240 460 060 £\ 480 2130
68A<1) ¢14(<14) $19(<24) 19 (<24) $24 (<32) $35 (<42) 68 (<11) ¢14(<14) ¢19(<24)  ¢19(<24) $24 (<32) $35 (<42)
$30430-50) $50 (30-70) $70 (50-110) 70 (50-110) 110 (50-130) ¢114.3 (100-180) $30 (30-50) ¢50(30-70) ¢70 (50-110) ¢70 (50-110) ¢ 110 (50-130) ¢ 114.3 ( 100-180)
4-Max8L  4-M5x10L  4-M6x12L  4-M6x12L 4-M10 x 20L 4-M12 % 241 4-Max8L  4-M5x10L  4-M6x12L  4-M6x12L 4-M10 x 20L 4-M12 x 241
| pe KT $ 52 $70 $70 $ 100 ¢ 145 B 34 $ 52 $ 70 470 $100 $145
$45 (45-70) $70 (70-130) $90 (70-145) $90 (70-145) @145 (70-165) ¢ 200 (90-230) $45 (45-70) $70 (70-130) $90 (70-145) $90(70-145) ¢ 145 (70-165) 200 (90-230)
BT 4 m4x8L  4-M5x10L  4-M6x12L  4-Méx12L 4-M8 x 16L 4-M12 x 24L BT s maxsL  4-M5x10L  4-Mex12L  4-Mex12L 4-M8 x 16L 4-M12 % 24L
B vsx<o7p M5x10P  4-M6x12P  4-M6x12P  4-M10x15P  4-M16x2.0P B vs<op M5x10P  4-M6x12P  4-M6x12P  4-M10x15P  4-M16x2.0P
18 28 36 36 50 80 18 28 36 36 50 80
3 3 3 3 4 5 3 3 3 3 4 5
4 10 10 10 15 18 4 10 10 10 15 18
Bl s 32 40 40 55 86 ~ cs Y 32 40 40 55 86
C5 4 4 7 7 o 10 10 Cs 4 4 7 7 10 10
32 33 41 41 68 82 32 33 41 41 68 82
| or 88 110 155 155 212 293 =4 105 AN 178 178 244 340
st 2 2 3 3 5 7 s1 ) 2 3 3 5 7
14 25 30 80 40 65 14 . 25 30 30 40 65
135 16(18) 22.2(24.5) 22.2(24.5) 28(35) 43 s3 13.5 16(18) 22.2(24.5) 22.2(24.5) 28(35) 43
B 4 5 6 T 6 8 12 B a G 5 6 6 8 12
42 60 80 90 120 160 42 60 80 90 120 160
42 60 80 2 120 178 42 60 80 90 120 178
ELOESAATERBART (ESIHERRT, et el el e R el LBl el itk R T R R R ARt s T o et A D e o s,
#a: R AT REE ABALR T ERE Note 3: The input size can be customized according to the customer's motor size 3 ARG AREEABNRTE TS ° Note 3: The input size can be customized according to the customer's motor size




m NS HiE RS

High rigidity and high torque series

HAD series

M RE 4 Bh Performance characteristics
*[a] #2 5 P 4R ‘Low return clearance

’ ; g Gear backlash is less than 1arcmin, accurate positioning
HRERK F1arcmin , EfIE®

“High torsional rigidityiand torque

* =

AR 55 RO HHL 99 B 1 R 3 4R Adopt one-piece dual support structure domain design, which
FA—BRAEZIESBEEF, BXESHEEAE greatly improves rigidity and torque
HHRES *High output efficiency

S EHBENRIERITY% 97% efficiency at full load
T ne ‘Lownoise

k= Use helical f iet ti

se helical gears for quiet operation
— i1

fiz P 94 i U 2 L *Grease lubrication free of maintenance
*2ch AL 2EE B

i A 7 7 SR A Use high-viscosity, hard—-to-separate grease to effectively

EHEBNE. ASo8NEBE, AR LEABERE. & prevent grease leakage. In No need to change the grease during
EmEafNETERBEE,

the life of the product,

21§

B
HAD SERIS ORDERING CODE

HAD-064-10 - S3 - P1- %Ki - (©14x30/050x3/4-070-05.5)

AL H =%k R~

irES BEHEERES
Motor Type Motor manufacturerm and model

HHEER PO: SBEEER P1: BEER P2: fRELE
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

tH 77 5 1 S3:Hd A Al

Output Shaft Keyway Output for holes

Ltk #Ratio
By, 4,57,8,10
WH:. 16,20,25,,35,40,50,70,100

BIRHLZ 5 Type HAD047,HAD 064,HAD 090,HAD 110,HAD 140,HAD 200,HAD-255

= f & #R(The product name)

ik 18 1% B 1R = R

Reducer moment of inertia

HAD 047 | HAD 064 | HAD 090 (HAD 110{HAD 140| HAD 200 | HAD255
4 0.03 ] 2.87 T

\84 0.51 24.23 58.32
5 0.03 0.13 0.48 272 7.59 23.69 54,27
1
= 7 0.03 0.13 0.46 2.65 7.26 22.88 51237
#HREX  kolom2
% 8 0.03 0.13 0.46 2.65 7.26 22.88 51.37
(b% 10 0.03 0.13 0.45 2.59 Tl 22.61 51.65

16-40 0.03 0.03 0.14 0.48 2.82 7.51 24.12

50-100 0.03 0.03 0.14 0.45 2.63 7.09 22.84




SR LIBS

:

FUEH HHET2N
Normal Output Torque

2EHE
Emergency Stop Torque

ENEW W iEn 1N
MNormal Input Speed

A EN1B
Max.Input Speed

BREEEEPO
Micro Backlash PO

REEEP1 A
Precision Backlash P1 :

-~

WEEEP2

Precision Backlash P2

R
Torsional Rigidity
BAT # 1EM2rB3

Max.Bending Moment

Fit i@ Hh2a1B2

Max.Axial Force

{E A& n/Service Life

F & n/Efficiency

&=/ Weight
{EREE

Operating Temperature
{8/ Lubrication

AP 45/ Protection Ciass

224575 [F/Mounting position

I§SME ( n1=3000rpm, T fEE )
Noise Level

1.k #(i=Nin/Nout)
2.5
3.

3\N

HEE#100rpmE, (EAFHHMPOLE,
KN F1 86 T28=60% of Tenor G E, {EMAHF S A11000hrs,

]

7

8

10
16
20
25
35
40
50
70
100
4-100
4-100
4-100

4-10

12~100

4~10

12~100

4-10

20~100

4-100
4-100
4-100
4-100
4-10

20~100

4~10

20-~100

4-100
4-100
4~100
4~100
4-100

1A A A A A A
-~ g O RGN Qo

~l

JIiﬁiE/Specmcatlons Table

135 1100 1750
60 160 335 655 1250 2050
50 140 310 550 1150 1900
50 125 280 520 1080 1700
47 110 275 510 1100 1850
49 135 280 560 1100 1750
49 1307 280 560 1100 1750

160 335 650 1250 2050
,QIQ o 160 335 650 1250 2050

60 160 335 650 1250 2050
60 160 335 650 1250 1700
55 140 335 550 1150 1900
60 135 325 600 1200 1980

3MEENE % H /156/3 Times of Nominal Output Torque
5000 4000 4000 3000 3000 2000
10000 8000 8000 6000 6000 4000
=1 =1 =1 =1 =1 =1
=3 = =4 =3 =3 =3
=3 = =3 =3 =3 =3
=5 =5 =5 =5 =5 =5
=5 = =5 =5 = Cg)\
=7 = =7 =7 =7 =7
13 31 82 151 460 1015
126 237 435 1320 3180 6050
1110 2150 3720 8330 16800 29550
22000h
97%
J4%%
1.3 3.1 <~<i§?3 13.5 32 57.2
2.2 5.5 17.8 37 71.8

—~\
AN (15T
& RERHAE ( Synthetic Grease )

1p65
fE=71E (AnyDi rection )
=58 =60 =63 =65 =67 =70

Mote :Ratio(i=Nin/Nout)
Note :When the output rotation number is 100 rpm, it acts on the center position of the output shaft.
Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 11000hrs.

MODEL:HAD

C8

D4

C6

EH [g1-Stage
4,5,7,8,10
s
s
og {5 ) [ ] = =i, %’\
= =1 [~ = = 7’

NG

(S B =S [ S I ¥ ]

o

Hi p ‘ ; HIHIIIIIHHHIHHHHHHI
@ & =

Ok (WN

12
©28
047
o72
D8(=11)
®30(30-50)
20
67
O 3xiF FE6
4-M3xiR 4
8-03.4
D46 (22-70)
M3-M4
3
7
5
19.5

N
4N
3.5
30
70(70-75)

82.5(82.5-88)

D11

¥ #& F Specifications(Unit:mm):

®31.5
63
®90
118
®19(=24)
®70(50-110)
50
109
OEXRET
T-MBxiRE12
8-05.5
©90 (70-145)
M5-M8
6
10
7
30
12
5-10
32 (32-59)

104.5(104.5-118.5)

90(60~130)

©24(=35)
©110(50-130) ®114.3(95-180) ®114.3(95-180) ©200(180-255)

DEXRET
11-MBxRE12
8-05.5
©145 (70-145)
M6-M8

47 (47-64)
135(135-150)
120(120-130)

11-MBxEE17

i A\ i INPUT

@100
®160 ©180
200 ®255
247 @300

®35(=50) ®55(=55)
125 140
233 280
O10xRE10 D12xFEE10
11-M10xiF E22 12-M16xi% E30
12-09 16-®3.5

@200 (90-215) ©200 (90-300) @235 (200-300)

Ma-mM12 M12
8 12
15 20
12 18
50 66
16 20

6-11 10-19

85 (85-117) 116 (85-116)
225.5(225.5-246) 268.5(268.5-288)

180(180~220) 220

Mote 1:Inside of()isthe optional range of sizes outside of {) is the standard size s.
MNote 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size

y/ 24




MODEL:HAD MODEL:HAD

:T:ﬁ?_fg%ezs 35,40,50,70,100 i 3% R~ B Dimensions

c8 tifn A\ i INPUT

' C3
C7
C6

B HHOLTPUT B 3HOUTPUT
. 8-(93.4 : 8-04. 5

D4
D8
D3
D2
D7
D1
D5
D6

TF
;

fos
v

I

NS
I o ——

D10

D11

i 4 IHOUTPUT 811 BHOUTPUT 1 IHOUTPUT
8-(%5.5

M 1& F Specifications(Unit:mm): 12-0%6. 6

8HTIRT

D1 ©20 ©31.5 040 50 ®80 ©100 T Ne
D2 ©28 | 040 ®63 ©80 ®100 ©160 ®180

©47 064 ®90 ©110 ©140 200 ©255

072 86 ®118 145 ®175 0247 ©300°.

®8(=11) 014(=14) ®19(=24) ©24(=35) ©35(=42) ®35(=50) 55(=55)
D6 ®30(30-50) ©50(=70)  ©70(50-110) ®110(50-130) ®114.3(95-180)®114.3(95-180) ©200(180-255)
D7 20 315 50 63 80 125 140
D8 67 79 109 135 168 233 280
D9 ©3xiR E6 O5xR E8 DBXIRET O EXREET O8XIRET O 12xRE12 O 12xFEEI0

| Do [EERVEE 2 7-M5XRES  7-MGXRE135 11-MGxREI35  11-MBXRA16  11-M1OXRE22  12-M16xRE30 o200 omozss

8-03.4 8-04.5 8-®5.5 8-055 12-06.6 12-09 16-03.5 P — E—

©46(22-70)  ©70(45-80)  ©90 (70-145) ©145(70-145) ©200 (90-215) 200 (90-300) 235 (200-300) ’ " 16-(413. 5

M3-M4 M4-M5 M5-M8 M6-M8 MB—M& MB-M12 M12 e LOHTIRL0 /(_“ LHTIR1O

C1 3 3 6 6 8 12 . 8 2
2 7 7 10 10 13:5 15 20 ’ e
cs 5 4 7 8 46 12 18 &

19.5 19.5 30 29 38 50 66 N

4 8 12 12 AN 12 16 20

3.5 4-55 555 5-20 8-15 6-8 10-19

30 28 (28-34) 32 (32-44) 47 (47-64) 64 (64-82) 75 (75-82) 73 (78-117)

97.5(97.5-101) 109.5(109.5-107 ) 138(122-120)  175(166-166)  239.5(218-208) 260(250.5-252) 332.5(320-349.5)

42 60(40~60) 90(60~80 ) 120(130-130)  130(130-180)  180(130~180)  180(180~220)

3 QESBATARIBRT (ES D pER R, L
3 WA RTAREE ABILR T ERE S Note 3: The input size can be customized according to the customer's motor size




RASWNESHERS

HADR series

P BE 45 BE

“[B] 2 [ PR K

B ¥ B (K F2arcmin | E i

“HE S RO R ) R AR
FA—RBREZEAEERN, BXREBMEREALE
WHMES

AR HEREED%

ERRE

ERAMERRREN

il BE R R A

ERASKE. AEIMNEBE, ARBLERERRE. 7%

EnSalRNETERBEE,

‘RETEER

HRUAREERREXLER, SREZETERIOES
H, ARE=MH

27§

Corner high rigidity high torque series

Performance characteristics

“Low return clearance

Gear backlash is less than 2arcmin, accurate positioning

‘High torsional rigidity and torque

Adopt one-piece dual support structure domain design, which
greatly improves rigidity and torque

“High output efficiency

97% efficiency at full'load

‘Low noise

Use helical gears for quiet operation

“Grease lubrication free of maintenance

Use high-viscosity, hard-to-separate grease to effectively
prevent grease leakage. In No need to change the grease during
the life of the product,

* Flexible installation space

The right-angle reducer uses spiral bevel gears, and the motor
connection can be bent at 90 degrees, saving installation space

RE RS
HADR SERIS ORDERINGCODE

HADR-064-10 - S3 - P1- 5iE - (014x30/®50x3/4-070-05.5)

BilEHEERT
OERE DxEFEmEES
Motor Type Motor manufacturerm and model

BRESL PO: BRZEER P1: BEEK P2. FREEM
Backlash Class Micro Backlash PO Precision Backlash P1 Standard Backlash P2

{ H 7 e 2 S3:HitH A FL

| Output Shaft Keyway Output for holes

Lk #Ratio
Y. 45,7,8,10,14,16,20
N 16,20,25,35,40,50,70,100,140,200

BiEHL 25 Type HADR047,HADR064,HADR090,HADR110,HADR140,HADR200,HADR255

=& & #M(The product name)

IR EEIEER

Reducer moment of inertia

HADR 047 HADR 090]HADR 110 HADR 140| HADR 200 HADR255
4 0.09 685 235  68.9

~
0.35 2.21 135.2
5 0.09 0.35 2.21 6.85 23.5 68.9 135.2
1
7 0.09 0.35 2.21 6.85 23.5 68.9 135.2

®HiRER  ko/em2 ?g\ 8 009 035 221 685 235 689 1352
\(b
A
<

10 0.09 0.35 2.21 6.85 23.5 68.9 135.2
16-40 0.09 0.08 1.91 6.26 21.9 65.6 119.8

50-100 0.09 0.09 0.36 2.24 6.54 23.4 69




2= J ™ ™ -
B HT B FK/Specifications Table
& AL | B OEEH
4 20 49 280 560

135 1100 1750

MODEL:HADR

B [R1-Stage

5 23 60 160 335 655 1250 2050 tbgg- 4,5,7,8,10,14,16,20
7 20 50 140 310 550 1150 1900
8 18 50 125 280 520 1080 1700 C12 8B INPUT
1 10 15 47 110 265 510 970 1750 CLo Cll N
c7 )
14 ~ 40 145 310 560 1100 1850 3 B
16 18 50 125 280 520 1080 1700 =i
20 - 27 60 . 465 400 770 1250
HE i AAET2N Nm 16 20 49 1357 280 560 1100 1750 il iy
Normal Output Torque 3 E o BlE ZE ; i
20 20 49 (1 280 560 1100 1750
25 23 61 < 160 335 650 1250 2050 y
35 23 61 160 335 650 1250 2050 - = 3
40 23 61 160 335 650 1250 2050 D& & S Y
2 50 23 61 160 335 650 1250 2050 T
70 20 61 140 335 650 1250 2050 DL 1S
D2
100 15 61 150 335 650 1250 2050
140 _ _ 145 310 560 1100 1850 ¥+ Specifications(Unit:mm):
20 - - 10 25 s20 1080 1750
Egrz%ﬁlcyStinorque L 1,2  4-200 SfEEEH H /146/3Times of Nominal Output Torque d8(=11) d14(=14) $19(=24) $24(=35) $35(=42) 35(=50) 55(=55)
Honik. it nesd wm - 4,2 4200 5000 5000 4000 4000 3000 3000 2000 % $30(30-50) 2323:2 z;gg*:j‘s’i Z:l?:_:j:} ¢¢‘2‘ :{-}3;25;?’ 4’;;:(’)3;5;:;“’ zzzzgzg‘izz
RAMA\ N1 i 4 71,2 4200 10000 10000 8000 ~ 8000 6000 6000 4000 iy = - e O — :
Max.Input Speed k (ot a | M4 M4-M5 M5-M8 M8 M8 M12 M12 M12
BIETEBHPO A rin 1 4-20 =2 =2 =2 =2 =2 =2 =2 12 20 31.5 40 50 80 100
Micro Backlash PO c~\ 2 20~200 =4 =4 =4 =4 =4 =4 =4 “ 28 40 63 80 0 1'00 160 180
e < o 1 420 23 - - - 21 4 G{l\ 47 64 90 110 ) ' 140 200 255
Precision Backlash P1 20~200 “ 72 86 118 14?;\\ 179 247 300
< i =7 =i =7 =7 2 =1 m 20 31.5 50 63 80 125 140
AP w0 =0 =8 =0 =0 =0 B0 =0 ST cvsxmma  7-MSxRES  7-MExRE13S 11-MexREIS5 11-MBx RE17 11-M10xHME22 12-M16x RES0
Standard Backlash P2 5 20200 -9 -9 -9 -9 sl -9 e 67 79 109 135 168 233 280
A Torsional Rigidity Nmiaromin 1 2 4~200 7 13 31 82 151 460 1015 8-43.4 8-d4.5 8-45.5 8-45.5 12-$6.6 12-¢9 16-$13.5
s Nmo 12 4200 44 126 237 435 1320 3180 6050 2313 d’a’;ff‘% d’SXfm b A - il d’m";"‘mo qu:mo
BYFE HF2a182 - . 6 19 19
Max_Axiachraca N 1,2 4200 1080 1110 2850 3220 10590 16800 29550 5 s ’ o P = o
A E®/Service Life hr 1,2 4-200 22000h 30 38.5 55 65 65 85 116
#&n/Efficiency - 1 4-20 ”, 74 72 1015 130 130 213.5 268.5
2 20~200 =92 1404 );&)S 11520 1123 193 311: 32{;5
\ = 12
— s 1 420 412 22 &4 10.7 221 51.2 86.5 3 AN 6 6 5 8 12
2 2020 15 2.9 7.5 125 278 685 987 7 7 10 10 15 15 20
g;ﬁe;;ﬁlg Temperature © 1,2 4~200 \O (-1 5C~+90T ) 4 f’\ ) 4 7 8 10 12 18
i9:B/Lubrication 1,2 4-200 & &8 HMAE ( Synthetic Grease ) C10 19.5 19.5 30 29 38 50 66
60 61.5 91.1 107 142.5 189 216
B #P % 4i/Protection Class 1,2 4-200 Ip65
o 107.5 111 166.1 201 263.5 334.5 392
:::T;Mountlng ::::? 1,2 4~200 £&7F [ ( Any Direction ) w“ &5 90(90-90 ) o 130(130-220) 190 5
1=3000rpm,
MNaise L:vel HE8) 1’2 4~200 =61 <63 <65 <68 <70 <72 <74 1 (OFESRATRERBER ST, (VS ARER T, Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
EE#(i=Nin/Nout) Note :Ratio{i=Nin/Nout) Ho MEN AT A EAE }J‘:d\ﬂ%ﬁu the 2: The reducer output shaft size and length can be custcmlzed_for custmers.
Mote :When the output rotation number is 100 rpm, it acts on the center position of the output shaft. FR AR AREBEE B RTERES ote 3: The input size can be customized according to the customer's motor size

1
2R 00rpmitt, ERFHIHEROEE,
3EAMEE S BET26=60% of Tenor FELEEH, EMA K4 4A11000hrs,

29\§

Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and
the service life is 11000hrs.

y/ 30




MODEL:HADR

& [g2-Stage

tt8r: 16,20,25,35,40,50,70,100,140,200

C7

D13

D8
D11

Dio
g
o

Ccl2
Cl0 Cll
CH 9
Fa ¢
L
o
] &
[ | =3
= o8l S o
. (J S
i
1] 3
D2

Mgk Specifications(Unit:mm):

R'd'a"SiZe

i A\ 3 INPUT
Al

HADRO47-L2 | HADR064-L2 | HADR090-L2 | HADR110-L2 | HADR140-L2 | HADR200-L2 | HADR255-L2

B  os8<11) b14(<14) $19(=<24) $24(=35) $35(<42) $ 35(<50) b 55(=<55)
B ©30(30-50)  ¢50(30-70) $70(50-130) 110(50-130) p114.3(95-180) b114.3(95-180) b200(180-255)
$46(22-70)  70(45-90)  H90(70-145) H145(70~145) $200(90-215)  b200(90-300)  h235(200-300)
T M4 “Ma-Ms M5-M8 M8 M8-M12 M12 M12
=raE 12 ‘ 20 31.5 40 50 80 100
=T 28\ 40 63 80 100 160 180,
47 64 90 110 140 200 255
| D8 | 72 86 118 145 179 247 300~
20 31.5 50 63 80 125 140
D10 4-M3XRE 4 7-M5xRES  7-M6x REE135 11-M6 xREIZ5 11-M8x FE16 11-MI0OxRE22 12-M16 x JREE30
67 79 109 135 168 233 280
D12 8-$3.4 8-$4.5 8-$5.5 8-$5.5 12-$6.6 12-09 16-135
G3xRE6  G5xRE6  G6xRE7  GExRE7  OBxRWE7  12xRE12  G12xREI0
3.5 5 7 8.5 8 8 6
8 5 9.5 5 36.5 29.5 24
_93__ 30 38.5 43.5 67 84.5. 84.5 116
c4 74 72 75.5 e 149'5 159 2135
104.25 106 110.5 162.5 2155 316 0
4 8 12 12 | 42 16 20
3 3 6 6 ,\\ 6 8 12
7 7 10 10 ! 15 15 20
4 4 7 g 10 12 18
19.5 30 29 38 50 66
- 88.5 90 135.6 157 210.9 293
148 160 220.6 285 350.9 403
60 90(90~ 80 ) 130~130  130(130-180) 180 220
TUESAERRS, 1B 5 T Tectamt It Al L als s A o Gl B A A IO for ity
Rt IERR s 4 Note 3: The input size can be customized according to the customer’'s motor size

MODEL:HADR

BHIiKR~FTE Dimensions

Hr B EHOUTPUT

i tH S OUTPUT

i L SROUTPUT

8-75.5

i tH FROUTPUT

12-(%9

il SR EROUTPUT

LOHT{# 10

11-M10%22L

DEHTIRT

i R EROUTPUT

16-(13. 5

g L HHOUTPUT
12-(6. 6
BH7%7

1 1-M8*17L

12HT{% 10




e ey HER) 1B
Al iﬂ%E ) §§IE ?‘5“ VRB SERLS ORDERING CODE

High torque and high speed series VRB -060-10 - S1 - P1- &i& - (014x30/050x3/4-070-05.5)
- GUERES Al
'VRB series BAnS D HERRLS
Motor Type Motor manufacturerm and model
HEER P1: BEZTMH P2: tRETE
Backlash Class  Precision Backlash P1 Standard Backlash P2
H I SE1E S1:SKibHh, TEE S2:inkm, ARE S3HHHAT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes

Ek #Ratio
B3, 3,4,5,7,8,10
WH:12,16,20,25,35,40,50,70,100

BIRYLE 5 Type VRB060,VRB090,VRB115,VRB142,VRB180,VRB220

7= & FR(The product name)

R EEIEER

Reducer moment of inertia

VRBDSU VRB090 [VRB115 | VRB142|VRB180 |VRB220
3 4.8 49 80

0.28 1.3 14.5

M BE 4 2L Performance characteristics
*[a] 72 [ P 1R ‘Low return clearance 4 0.25 1.3 4.6 12 35 70

4 . E Gear backlash is less than 3arcmin, accurate positioning
B ¥ B K F3arcmin , E k5 “High torsional rigidity andtorque 5 0.25 1.2 4.5 11 30 68
* =
A 155 O 41 9 ) 125 2 49 56 Adopt one-piece dual support structure domain design, which %ﬁ”ﬁi% kg/6m2 1 <¢
%Fﬁ—%ﬁﬁiﬁ%ﬁﬁﬁﬁﬁ, BRIESHERAE greatly improves rigidity and torque ?~ 7 0.18 0.9 3.5 10 23 95
‘WHMRES ‘High output efficiency (o g 017 08 3 - - 6
S EHBENRIERITY% 97% efficiency at full load 4 : ’ ’
A—— ‘Low noise /& \
e —— Use helical gears for quiet operation % 10 0.14 0.6 2.5 9 19 40
fiz P 4 i e 2 A *‘Grease lubrication free of maintenance
*3 [ =1z B & =
i AT 7 S M Use high-viscosity, hard-to-separate grease to effectively 12-40 0.17 0.7 2.1 12 12 27
FEHBHE. ASoBNEBE, AP LERBERRKE. & prevent grease leakage. In No need to change the grease 2
EmEcHANEEERBIEE, during the life of the product, =0 Ll i 14 33 e &

33\




K ## K /Specifications Table

)

160 915

4 40 100 220 435 790 1400

5 45 115 260 530 910 1700

7 40 105 235 410 830 1550

: 8 40 100 <220 400 830 1290

10 30 80 190 350 710 1200

12 45 @V 160 275 550 915

15 42 90 200 420 700 1300

HEm L HAET2N 16 40\ 100 220 435 790 1400
Normal Output Torque N an @ 495 @88 530 9N¢  i7en
25 45 115 260 530 910 1700

35 40 115 235 410 830 1550

40 40 100 220 435 790 1400

2 50 45 115 260 530 910 1700

70 40 105 235 410 830 1550

100 30 8 190 350 710 1200
B ergens Sk Tl Nm- 12 3-100 3fEEAEHH H15E/3 Times of Nominal Output Torque
o < tpm 12 3-100 4000 3000 2000
ﬁﬁ?ﬂﬁm . Vy,fpm 1,2 3-100 8000 6000 4000

AEERP /Q\ arcmin 1 S-10 || =5 <3 <3 <3 <3 <3
Precision Backlash@) 2 12-100 <5 <5 <5 <5 <5 <5
T atoentn |1 3-10 <5 5 <5 <5 <5 <5
Precision Backlash P2 2 12-100 <7 =7 £ £ <= 2
ARt/ Torsional Rigidity Nm/arcmin 1,2 3-100 3.5 10.5 20 39 1FiHe 180
AE¥2m A Max.Radial Force N 1,2 3-100 630 1230 2550 3780 5875 11200
SN Max.Axial Force N 1= 3-100 1100 2200 5025 7610 10900 24000
1 B % /Service Life hr 1,2 20000

1
¥ &n/Efficiency % L

2 =94

100 B0 e 39(@ 16 31 48
B8/Weight kg

2 12-100 1.8 4.6 20 39 62

=1

%Tﬁm@m ‘C 1!2 3—100 ’4 ( —100 C"‘QODC )
{8 Lubrication 152 3-100 #& 4 jF 78/ Lifetime Lubrication
B4 Protection Ciass 1,2 3-100 o) IP65
%37 Mounting position 1,8 3-100 &7 [E/Any direction
M {n-200rm E 108 dB(A) 1, 2 3-100 <58 <60 <63 <65 <67 <70

1.EE & (i=Nin/Nout)
ggg&é #oorpmid, (FAFHEBEPLEE.

JmiE $1 BET28=60% of TznoT FELEEH, 1A %M H10000hrs,

Mote :Ratio(i=Nin/Nout)
Maote :When the output rotation number is 100 rpm, it acts on the center position of the output shaft.
Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 10000hrs.

MODEL:VRB

B 1-Stage
tk8r:. 3,4,5,7,.8,10

Out put (§ith3) & In put (AZ%)
Al c4 C3 A2
B £l €| |
/\ P N - I
i5 s1|, S2 )r
]

##& & Specifications(Unit:mm):

Fi‘l‘fSlze VRB060-L1 | VRB090-L1 | VRB115-L1 VRB142-L1 VRB180-L1 VRB220-L1

$16 $ 22 ¢ 32 $ 40 ¢ 55 $75
$ 50 ¢ 80 ¢ 110 $130 /- 4160 ¢ 180
14 (<19) ¢19(=<24) ¢24(=<24) ¢$35(=<42) ( $42(<55) ¢ 55
BT 650 (30-70) ¢70 (50-110) ¢ 110 ( 70-130) $1143 (100-180) ¢ 114.3 $ 200
$70 $ 100 $ 130 $165 $215 $ 250
B 9455 4-$6.6 4-99  Ta-¢11 4-$13.5 4-$17
$70 (70-130) $90 (70-145) ¢ 145 (70-165) $200 (90-230) $200 ( 90-230) 235
B 4-msx10 4-MBx12 4-M8x16  4-M12x25  4-M12x25  4-M12x25
PR i A M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 84 105
1.5 1.5 3 3 1 3
6 8 10 12 15 =
2 48 65 97 105 138
C5 7 85 20 gd 9 32
C6 34 44 60 81 80 118
1155 ¢, M7 200 261 284 357
S1 2 3 5 5 6 7
S2 22 7 28 40 65 70 90
18 24.5 35 43 59 79.5
B N 6 10 12 16 20
60 90 115 142 180 220
60 80 130 180 180 220
gL chih LRk b L R il R R R e b
BEEAEIRTERES Note 3: The input size can be customized according to the customer's motor size

y/ 36



MODEL:VRB BiZ=Z=S5HESEERT

&0 2-Stage s 2 :
N e e T T 0 Round flange high torque and high speed series

VRL series

Out put () - In put (AN

C4 C3
Cl1 c

45°

sy, S2 i

D2
D1
I
.L,.:
|
i
|03 |
D4

LI

Co

#Mi% 3k Specifications(Unit:mm):

R/Sze| VRBO60-L2 | VABO9O-L2

D1 $16 < ¢22 $32 ¢ 40 55 $75

D2 $50 Y 80 6110 $130 160 $ 180
b14(\<19) ¢19(<24) ¢24(<24) ¢$35(=<42) ¢42(=<55) ¢ 55
YR $50(30-70) $70(50-110) ¢ 110 ( 70-130) 1143 (100-180) ¢ 114.3 $200 -
70 ¢ 100 ¢ 130 ¢ 165 $215 $ 250
B 455 4-$6.6 4-49 4- ¢ 11 4-$13.5 4-p 17
$70 (70-130) 90 (70-145) ¢ 145 (70-165) $200 (90-230) ¢ 200 ( 90-230) ¢ 235
B 4-msxio0 4-M6x12 4-M8x16  4-M12x25  4-M12x25  4-M12x25
B M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 82 105 M R4 BE Performance characteristics
1:5 1.5 2 3 3 3 “[6] 2 15 B ‘Low return clearance
6 8 10 13 15 20 . . i Gear backlash is less than 3arcmin, accurate positioning
37 48 60 95 105 138 Ewm R R F3arcmin | E s “High torsional rigidity and torque

* = il

7 17 28 29 ‘: 9 32 18 5 (04 $ ) A R 48 Adopt one-piece dual support structure domain design, which

C6 34 44 118 FA—BRAEIESBERG, BXRESHE RS greatly improves rigidity and torque

64 82 80

1425 173.5 234 30{')\/ 352.5 388 “MHNES “High output efficiency
2 3 B 5 6 7 S EHEEURIET7% 97% effliciency at full load
— 18 : _ = se helical gears for quiet operation

¢ =D il i 29 {83 ﬁﬁﬁiﬁﬁt%ﬁﬁ ‘Grease lubrication free of maintenance

B S 5 6 10 12 16 20 it A R S A Use high-viscosity, hard-to—-separate grease to effectively

i 90 115 142 180 220 EHENE. A5o8NEBE, AYBILEABEMIE. &  prevent grease leakage. In No need to change the grease
60 80 130 180 180 220 EREAINEETHEEE, during the life of the product,
b tad R Nota 2t The fedusir o IEt SNEI BlZs Bod lanath ven ba BublamISa oy Custmere:
RIEE P B LR T SRS Note 3: The input size can be customized according to the customer's motor size




BN
VRL SERLS ORDERING CODE

VRL -060-10 - S1 - P1-5Ki& - (©14x30/050x3/4-070-05.5)

AL H 23R R~

= prgiiiey
Motor Type

Backlash Class

DirHEmRES
Motor manufacturerm and model

P1: BEER P2: tRAELFE
Precision Backlash P1 Standard Backlash P2

tH g S1:3RGh, FTiERE S2iinfEm, BHEE S3HUEAT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Qutput for holes

Ltk #Ratio
B35. 3,4,5,7,8,10
WT5:12,16,20,25,35,40,50,70,100

HiEHL Z 5 Type VRLO70,VRL0O90,VRL115,VRL155,VRL205,VRL235

=& &#(The product name)

R I8 E R

Reducer moment of inertia

VRLO70 | VRL090 | VRL115|VRL155 | VRL205 |VRL235
J 0.28 1.3 4.8 14.5 49

80
4 0.25 1.3 4.6 12 35 70
5 0.25 1:2 4.5 11 30 68

#yEEF kg/em2 |

7 0.18 0.9 3.5 ?Qg\o 23 55
<&
8 0.17 0.8 3 9.5 22 52
10 0.14 0.6 ’Q\z 5 9 19 40
= o 0\ =
7

) 12-40 0.17 0. 2 12 12 27

50-100 0.16

0.5 1.8 g5

9.8

21

H #i & F/SpecificationsTable

FEHHAET2N

B

Normal Output Twe(:' Nm

S

BSAE

Emergency Stop Torque

FESNFEIN
Normal Input Speed

RAGHEENB
Max.Input Speed
HEHEP1

Precision Backlash P1

B HEP2

Precision Backlash P2

# M {4/ Torsional Rigidity
FiFZMmN Max.Radial Force
Zi¥48EN Max.Axial Force
fE B #%&/Service Life

¥ &n/Efficiency

E8/Weight

EREE

Operating Temperature

H@if/Lubrication

B4 Protection Ciass A\

&AAMonigposion 7
1= ¥ '

EEEL évr:el =3000mm ESg )

EE #(i=Nin/Nout)

-
SHR

Nm

rpm

rpm
arcmin

arcmin

Nm/arcmin

O
B
cX/
N\

dB(A)

)
%ﬁﬁwmpmm. fERTHHE PO E,

1,2
1.2
1,2

Lol B E

1,2
1.2
1.2
.2

1
2
1
z

1.2
1,2
152
152

15 2

3 45 80 160 275 550 915
4 40 100 220 435 790 1400
5 45 115 260 530 910 1700
7 40 105 235 410 830 1550
8 40 100 220 400 830 1290
10 30 80 190 350 710 1200
12 45 80 160 275 550 915
15 42 90 200 400 750 1350
16 40 100 220 435 790 1400
20 45 115 260 530 910 1700
25 45 115 260 530 910 1700
35 40 115 235 410 830 15‘6\
40 40 100 220 435 790 1400
50 45 115 260 530 910 1700
70 40 105 235 410 830 1550
100 30 80 190 350 710 1200
3-100 3fEZEHH 1%E/3 Times of Nominal Output Torque
3-100 4000 3000 2000
3-100 8000 6000 4000
310 8 8 & 8 o« <
12-100 <5 <5 <5 <5 <5 <5
3-10 <5  <5J) <5 <5 <6 <5
12-100 <7 <7 <7 <7 <7 <7
3-100 35, 105 20 39 115 180
3-100 630 1230 2550 3780 5875 11200
3-100 1100 2200 5025 7610 10900 24000
20000
=97
=94
3-10 i3 3.9 8.7 16 31 48
12-100 1.8 4.6 10 20 39 62
3-100 (-10° €-90°C)
3-100 #2 4 i ig/Lifetime Lubrication
3-100 IP65
3-100 fEE A [/Any direction
3-100 <58 <60 <63 <65 <67 <70

Mote ;Ratio{i=Nin/Nout)

Note :When the output rotation number is 100 rpm. it acts on the center position of the output shaft.
i 1 BET28=60% of Tenot, & EH, {EHH & HA10000hrs. Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation, and

the service life is 10000hrs.




MODEL: VRL

B [R1-Stage
tk#: 3,4,5,7,8,10

In put (fA%R)

Out put (i) c5

Al
D2
D1
9
@

D4

##& & Specifications(Unit:mm):

16 ¢ 22 ¢ 32 $ 40 ¢ 55 $75
052 $ 68 90 120 160 180
014°(<19) ¢19(<24) 024 (<24) ¢35(=<42) ¢35(=<55) ®55
0 ~70) 70 (50-110) 6110 (70-130) 01143 (100-180)  ©114.3 $200 A
¢ 62 $ 90 130 ¢ 165 184 210
BT 4-Mmsx10 4-M6x12  4-M8x16  4-M10x20  4-M12x25  4-M16x30
$70 (70-130) $90 (70-145) 145 (70-165) 200 (90-230) 200 (90-230) ¢ 235

| Ds  [EEYEIL 4-M6x12  4-M8x16  4-M12x25  4-M12x25  4-M12x25
|u 65 mil M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 82 105

35 44 62 94 100 126

5.5 7 20 8 23 32

34 44 65 82 82 118
115.5 147.5 200 261 /7 2845 357

3 4 5 7 6 7

22 28 40 65 70 90

18 24.5 35 43 59 79.5
EEE 5 6 10 12 16 20

70 90 120 155 205 235

60 86 130 180 180 220
3pQEIGATARRNT gy ML Eesclu e, s et e e s
F3 AR AREE A B R E Note 3: The input size can be customized according to the customer's motor size

MODEL: VRL

& ER2-Stage
Eb#8:12.16,20,25,35.40,50.70,100

. -~ In put (HiAE)
Out put (i) C5

= A2
Cl

Bha

= i

Al
D2
D1
19
|
J
|
|
|
1
|
03|
D4

H1& & Specifications(Unit:mm):

$16 ¢ 22 $ 32 ¢ 40 o 55 $75
52 $ 68 ¢ 90 $120 ' 0160 180
b14 (<19) $19(<24) ¢24 (<24) ¢35 ((<42) ¢35(<55) ¢ 55
50 (30-70) 70 (50-110) $110 (70-130) 61143 (100-180) & 114.3 200
$ 62 $ 90 ¢ 130 165 ¢ 184 6210
BTl +-Msxi0 4-M6x12  4-M8x16 ~ 4-M10x20  4-M12x25  4-M16x30
$70 (70-130) 90 (90-145) ©145 (70-165) $200 (90-230) 200 (90-230) 235
B 4-maxio 4-M6x12  4-M8x16  4-M12x25  4-M12x25  4-M12x25
| D9 | M5 M8 M12 M16 M20 M20
28.5 36.5 51 79 82 105
35 46 62 94 100 126
5.5 6 10 10 23 32

34 44 64 82 82 118
142.5 {1735 234 304 336.5 388

3 4 5 7 6 7

22 C\V 28 40 65 70 90

18 24.5 35 43 59 79.5

[ B | A 6 10 12 16 20

70 90 120 155 205 235

60 80 130 180 180 220

[Te = a ey i, el = +. Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
A TNER e U G e B e




RARERERERI

Corner precision low noise series

B HAFRseries

HAFR series
Taiwan lg"{-‘in{Jh‘Z’ﬂV

HAFR series
Taiwan technology

-4

M RE 45 Bh Performance characteristics

*[E 72 FS PR Low return clearance

Gear backlash is less than 8arcmin, accurate positioning

HE R
HAFR SERIS ORDERING CODE

HAFR -060-10 - S1 - P1- 5&iE - (©14x30/050x3/4-070-05.5)

ML 23k R~F

SiERS DixslEmEES
Motor Type Motor manufacturerm and model

HRER P1: &R P2: #RELK
Backlash Class Precision Backlash P1 Standard Backlash P2

H A HhR s ST, TiEfE S2iniERm, BEE S MU AT
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes

I Lk #Ratio

W5 12,15,16,20,25,28,35,40,50,64,100

BiEML 25 Type HAFR060,HAFR090,HAFR120,HAFR160

7= S & FR(The product name)

R EEEIEER

Reducer moment of inertia

3 (A5 2.63

B ER{E Fearcmin , B improves rigidity and torque
WMHRES *High output efficiency
T EHEFEEIERI7% 97% efficiency at full load
SRR “Low noise

Sl i “Grease lubrication free of maintenance
“ih BE iE TR R AR

Use high-viscosity, hard—to—separate grease to effectively

ERBKE. FHOMERRE, FUHLHRELR. & prevent grease leakage. In No need to change the grease during
Eﬁ:%ﬁ%ﬁﬂﬁﬁﬁﬁﬁfﬁ‘ﬂﬁ. the life of the product,

43 \§

0.064 1214
4 0.064 0.77 2:63 1244
5 0.064 BT 2.63 1214

HHIEEE  kglom2 !
7 0.064 Q-77 2.63 12.14

W
@’ 8 0.064 0.77 2.63 12.704
é 10 0.064 0. 77 2.63 1244
%)

12-40 0.064 0.50 2.63 1214

2

50-100 0.064

0.50

2.63

12.14




45

% 17

N

4
<
1 7
8
10
12
15
16
BUE S HAET2N Nm 20
Normal Output Torque
25
28
” 32
35
40
50
64
& .
100
2EHE <<
Emergency Stop Torque N('j 1.2 3~200
FEBNEENIN o~
Normal Input Speed A‘Aipm Le 3~200
1B
MaxinputSpeed ¢~ N fBMLS 12 3~200
A" _a
BEEEP S : 1 3~10
Precision Backlash P1 R 2 12~200
1 3~10
WEN RP2 p arcmin
Precision Backlash P2 9 12-200
MR/ Torsional Rigidity Nm/arcmin 1,2 3~200
B EE AN Max.Radial Force N 1.2 3~200
BHE A Max.Axial Force N 1,2 3~200
{# i % dn/Service Life hr 1.2 3~200
1 3~10
P #FEn/Efficiency %Yo
2 15~200
1 3~10
= &#/Weight kg
E 15~200
gp?r?&ghn‘pemlura T 1.2 3~200
i /Lubrication 1.2 3~200
B % 4/ Protection Ciass 1,2 3~200
L4 [E/Mounting position 1,2 3~200
ennE®) gy T2 8~200
1.EE & (i=Nin/Nout)
2% oorpmit, FRATFEHEPOME.
3. A NIE N BET28=60% of TenoT, ELEZEF, {E K %4 4H10000hrs,

1% 3% /Specifications Table

g B B 3
3 18 60

HAFR 120 | HAFR 160

115 210
33 105 240 630
30 100 230 540
23 90 180 360
25 85 160 300
18 70 140 280
18 ,{}Eﬁ“ 140 220
18 70 140 230
38, 115 280 700
38 115 260 700
337/ 110 270 580
38 110 280 700
40 110 280 700
35 110 270 580
40 110 280 700
35 110 270 580
40 100 240 550
30 90 220 550
15 70 140 520
3fEFRE Y H $146/3Times of Nominal Output Torque
4000 4000 3500 3000
8000 8000 6000 5000
=8 =8 =8 <A
=10 =10 =10 =1¢
=11 =51 =11 =11
=14 =14 =14 =14
3 9.2 15 50
360 700 2100 4800
310 605 1750 4150
20000h
£394%
=91%
16 Ca 102 239
2.0 52 113 27.1
(-15T~+907C )

=65

Note :Ratio(i=Nin/Nout)

Note :When the output rotation number is 100 rpm. it acts on the center position of the output shaft.
Note :The maximum acceleration force is T2B=60% of T2NOT, continuous continuous rotation,
and the service life is 10000hrs.

£ & mABHAE ( Synthetic Grease )
IP65
£& %@ ( Any Dlrection )
=68

=R =75

MODEL:HAFR

B [1-Stage

EL®: 3,4,5,7,8,10

iy Ak INPUT

(3]

10

M E Specifications(Unit:mm):

HAFR 060-L1 HAFR 090-L1 HAFR 120-L1 HAFR 160-L1
¢ 40

R~t/Size

0| 9|0
[

o
(4]

O

[o3N®)

olo
01#4:-

Q0|00
o

N(ﬂ

=
==
i

il S1

1,

H—

i,
FAE 4R E

e

l}i‘&%ﬂ‘ﬂ] FRAERT .

c9

(o]

=3

|l":.

BHY

53

&) i SROUTPUT

I}

¥

@Dl

$14(16) $20(22) 2532
50 80 6110 $130
6 14(=<14) $19(=24) $24(<32) $35(<42)
$50(30-50) $ 70(30-70)  110(50-145) $ 114.3(70-180)
$70 100 $130 $185
4-455 4-$65 4-49 4-¢ 11
¢ 70(45-90) ¢ 90(70-145) T ¢145(70-165) ¢.200(90-235)
(4-M5X10) (4-M6X12) (4-M8X16) (4-M12X20)
M5X10 M6BX12 M10X15 M16X20
28 36 50 80
3 3 4 5
10 10 15 18
32 40 55 86
(109.5) (157.0) (207.0) (287.0)
(145.0) (194.0) (273.0) (367.0)
(5.0 (7.0 (10.0) (8.0)
@65 o (45.5) (73.0) (94.0)
(67.5) (88.3) (134.5) (170.5)
97.6) - (140) (194.5) (252.5)
60 90 120 165
. ke0) (%) (120) (178)
2 3 5 7
25 30 40 65
16(18) 22.5(24.5) 28(35) 43
5 6 8 12

MNote 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Mote 2: The reducer output shaft size and length can be customized for custmers.
Note 3: The input size can be customized according to the customer's motor size




MODEL:HAFR

& Ei2-Stage

tL®L: 12,15,16,20,25,28,35,40,50,64,100

il A INPUT

gy H SR OUTPUT

Cé
Ch
C4 1
Cl o
52|
e
o | R | : V4
] -
c2 2
A2 Nt - A
BN E
| D3 cd
D4
Bl
il st /b\/l-l@ il sz I:.‘ D9
@D1 2Dl
M 1& &k Specifications(Unit:mm):
HAFR 120-L2 HAFR 160-L2
D1 » 14(18)_ $20(22) $25(32)
D2 ¢ 50 $ 80 ¢ 110 $ 130
L 14(<14) $19(=24) $24(<32) $35(<42)
[ o] $50(30-50) $70(30-70) $ 110(50-145) 4 114.3(70-180)
T e 100 6130 o185 N
[ pg ] 4-$55 4- 465 4-49 411
$70(45-90) $90(70-145) $ 145(70-165) $200(90-235)
D8 (4-M5X10) (4-M6X12) (4-M8X16) (4-M12X20)
D9 M5X10 Méx12 M10X15 M16X20
 — 28 36 50 80
10 10 15 18
32 40 55 8
(126.0) (181.0) (239.0) (324.0)
(162.0) (219.0) (305.0) ). (414.0)
(5.0) (7.0) (10.0) (8.0)
(365) (4s5) {730y (940)
(67.5) (88.3) (134.5) (170.5)
(976) (140) N (1945) (252.5)
| oAt 60 % 120 165
( 60) (%) I (120) (178)
= 2 3 5 7
» 0 o ‘
16(18) 225(24.5) 28(35) 43
sl R R i ol el s b M IR Lot b LB Sl sl
BEPBI R IERE S Note 3: The input size can be customized according to the customer's motor size

\

RARZ=RFRERRZTRI

Corner round flange precision low noise series

HAER series

Taiwan technology

1 BE 4 R

*[E 72 I PR

&R R F8arcmin , E{LIEHE
WHMES
LRWMHFARRIELT%

RRE

“it RS i R 4R
ERAEE. AEIBNERE, AUMIEERERR, £
ERSalnNETERRBRE,

HAER series

HAER sen'e';s

Taiwan technology

Performance characteristics

“Low return clearance

Gear backlash is less than 8arcmin, accurate positioning
greatly improves rigidity and torque

“High output efficiency

97% efficiency at full load

“Low noise
“Grease lubrication free of maintenance

Use high-viscosity, hard—to—separate grease to effectively
prevent grease leakage. In No need to change the grease
during the life of the product,

y/ 48



RIS F iR K /Specifications Table
HAER SERIS ORDERING CODE

HAER -060-10 - S1 - P1- 5iE - (014x30/®50x3/4-070-05.5) HAER 060 | HAER090 | HAER120 | HAER 160
. 3 18 60

118 210
4 33
B AL 2 3 R ~F 105 240 630
. 5 30 100 230 540
SixES DkHIEHRES 1 7 23 90 180 360
Motor Type Motor manufacturerm and model 8 o5 85 160 300
HHEZER Pl BEER P2: fRAEL KR 10 22 70 140 290
Backlash Class Precision Backlash P1 Standard Backlash P2 <>\ 12 18 65 140 290
iy =y g \ 15 18 70 140 230
HAWEE  SUSUDM, T S2ATES, FEM S3H I BER TN 2&/’?
Output Shaft Keyway Solid Output Shaft(No Keyway) Standard(Keyway) Output for holes ormal Output Torque 16 38 115 280 700
20 38 115 260 700
Lk #Ratio A 4
B v 25
B3, 3,457,810 & 33 110 270 580
W 12,15,16,20,25,28,35,40,50,64,100 % 28 38 110 280 709
5 32 40 110 280 700
BIEHLFZ | Type HAER060,HAER090,HAER120,HAER160 35 35 110 270 580
40 40 110 280 700
7= &R (The product name) 50 g 110 270 .
64 40 100 240 550
AR NS B e ——
yg, Ik 3 BB 100 25 80 190 480
R = d ucer momen t Of i ne rt i a &?,ﬁ’fcysmp-rmue Nm 1,2 3~200 SfEENE L H F158/3Times of Nominal Output Torque
S S NN
Normal InputnSpeed i 12 3~200 4000 Y w 3500 3000
s T : BRI HEENB m ‘||2 3_‘-200 Bom
A1 B | BRH tb% | HAER060 [ HAER090 [ HAER120 | HAER160 L ” L2000 e AR
AT EBP1 ! L 3~10 =8 =8 =8 =8
Precision Backlash P1 SR 5 12-200 =10 =10 prT S#n
3 0.064 0.77 263 12.14 T EP2 . 1 3~10 =¥ N =1 =13 =11
Precision Backlash P2 2 12~200 =14 =14 <14 =14
4 0.064 0.77 263 12.14 MM Torsional Rigidity  Nm/arcmin 1.2 3~200 3 9.2 15
EifEmA Max Radial Force N 1.2 3~200 360 700 2100 4800
A N 122 o
5 0.064 0.77 263 12.14 FiFES Max.Axial Force 3~200 310 605 1750 4150
1 EA%ES/Service Life hr 1.2 3~200 20000h
®EHRER  kg/cm2 1 3~10 >94%
L En/Efficien %
7 0.064 0.77 2:63 12:14 #n/Efficiency 2 15-200 o
<<4‘ ERWeight K ™ 3~10 16 4.1 102 239
8 0.064 | 0.77 2.63 12.14 (2 15~200 20 52 113 27.1
S Setia T 8O 1.2 3-200 (-15C-+90C )
10 0.064 0.77 2.63 124 978 Lubrication K‘\ g 3~200 24 HEBHAE ( Synthetic Grease )
B PrtecionCiass (. 1.2 3~200 IP65
12-40 0.064 0.50 2.63 12.14 ERHOMoningposton 12 3~200 fE® 1 (Any Direction )
2 ﬁd‘i‘seﬂl-ivr:l:aoo&pm,iﬁﬁl dB(A) 1,2 3-200 =65 o - o~
50-100 0.064 0.50 2.63 12.14 ;%&ﬁ; izgnné?:?pun?ﬁff, EBTH HMh OISR, Hg{: ;?Vittia%“t;r;igfl?;uurtﬁotatior] number is 100 rpm, it acts on the center position of the output shaft.
3.EmAMiEAETe=60% of Tenot, EEER, EHFEAHH10000hrs, Note :The maximum acceleration force is T2B=60% of T2ZNOT, continuous continuous rotation, and

the service life is 11000hrs.

y/ 50




MODEL:HAER

B IR INPUT

B [g1-Stage
LL®: 3,4,5,7,8,10

L

Mgk Specifications(Unit:mm):

HAER060-L1 |  HAER 090-L1

D1

D7

o
®

QIO

i 9 HHHIIH

O

i w w

c8
| cwo |
N T

1 ()ES R AR
E2: AL H AT L
EHARTARES

51 \Q

h#HA: s1

il

EEHIRERT,

SEE R, f
ABRPEHXNINKE
FEHIR

sHEFRE I

e
N

€10

ﬁ ol
el |d
I
HHRA: 52

¢ 14(16) $20(22)
$ 40 $ 60
P A4(=14) $19(=24)
50(30-50) $70(30-70)
$52 $70
(4-M5X10) (4-MBX12)
¢ 70(45-90) $ 90(70-145)
(4-M5X10) (4-MBX12)
M5*10 M6*12
28 36
3 3
32 40
(115.0) (1610)
(145.0) (194.0)
(5.0) (7.0)
(36.5) (45.5)
(67.5) (88.3)
(97.6) (140)
60 20
( 60) (90)
2 3
25 30
16(18) 22.5(24.5)
5 6

Bt 5ROUTPUT

S

HAER 120-L1

$25(32)
$80
$24(=32)
$ 110(50-145)
$ 100
(4-M10X20)
¢ 145(90-165)
(4-MBX16)
M10*15
50
4
55
(213.0)
(273.0)
(10.0)
may \7~
(134:5)
| (1945)

120

N (120)
5

40
28(35)
8

& 40
$130
$35(<42)
$114.3(70-180)
$145
(4-M12X24)
$200(145-235)
(4-M12X24)
M16°20
80
5
86
(287.0)
(367.0)
(8.0)
(94.0)
(170.5)
(2525)

165
(178)

7
65
43
12

HAER 160-L1

A\
\0

Note 1: Inside of()isthe optional range of sizes outside of () is the standard size s.

Mote 2: The reducer output shaft size and length can be customized for custmers.

Note 3: The input size can be customized according to the customer's motor size

MODEL:HAER

#£E22-Stage

tb 8. 12,15,16,20,25,28,35,40,50,64,100

8 IR INPUT

HE@EA: S1

#M#& 3 Specifications(Unit:mm):

R~F/Size

g

o

O

QI |0
o BN

Cé6

aolala
||~

4
(=]

301

b 14(16)
$40

b 14(=14)

$ 50(30-50)
$52

(4-M5X10)

¢ 70(45-90)

(4-M5X10)

M5*10

S
S J 25
16(18)
5
Ak E R T, Fﬁ%&l\?’aﬁ R=t.
ST LA T P E AR R .
TR B2 P LR <H R bR E i

10

Bt BROUTPUT

e Al
Q £y
(] |d
1]
BH9
hkR, s2 “_—J\ 4
2 Bj/
P01
HAER 090-L2 HAER 120-L2
$ 20(22) $ 25(32)
$60 PR XN
6 19(=24) $24(<32)
$70(30-70) . '$110(50-145)
$ 70 ¢ 100
(4-M6X12) SN0 (@-M10x20)
¢ 90(70-145) & 145(30-165)
(4-MBX12) (4-M8X16)
M6*12 M10*15
36 50
A 4
40 55
(185.0) (245.0)
(219.0) (305.0)
(7.0) (10.0)
(45.5) (73.0)
(88.3) (134.5)
(140) (194.5)
90 120
(90) (120)
3 5
30 40
22.5(24.5) 28(35)
6 8

Mote 1: Inside of()isthe optional range of sizes outside of () is the standard size s.
Note 2: The reducer output shaft size and length can be customized for custmers.

$130
¢ 35(=42)
$114.3(70-180)
$ 145
(4-M12X24)
b 200(145-235)
(4-M12X24)
M16720
80
5
86
(334.0)
(414.0)
(8.0)
(94.0)
(170.5)
(252.5)
165
(178 )
Z
65
43
12

Note 3: The input size can be customized according to the customer's motor size

HAER 160-L2
$ 40

y/ 52




MODEL:ZR MODEL:ZRT

ZREARERMBZRS ZRT EAAREXWRZRS
ZR RIGHT ANGLE PRECISION STEERING GEAR SERIES ZRT RIGHT ANGLE PRECISION STEERING GEAR SERIES

ZR RIIF AL ERIET, BRATLUAE, BONMEATUEREMEEMNRREES
BERL & 7 DR NS RIEM -

ZR series bevel gear can adjust backlash,compact housing design can be used with ZRT (3K H)
any orienta—tion,easy to install or retrofit can meet a variety of motor reducer.

—

o CL(P.C.D.)

Hlhwg

]
|
- =r
© ~T=
{

7T =
1 J
L1
L
; O]
r’/':\\\\\

Bl / B
B C2(P.C.D}) C1(P.C.D) —

— B2 C(PCD)
T =~

3 GEAR HEAD
] INLET DIMENSION
‘ (FOR MOTOR OUTLET)

e - . P,RVWAHLXEAR
HfE R Specifications(Unit:mm): P,R,V,W Size may varyaccording to the motor flange chosen

R~t/Size | ZRT042-02 | ZRT042-05 | ZRT060-02 | ZRT060-05 | ZRT090-02 | ZRT090-05 | ZRT120-02 | ZRT150-02
42.5 42.5 116
_ 425 42.5 60 60 ) 9 90 116 142
i #ﬁ:"&/Spemflcatlons Table B KM M e e e
L M3 M3 M4 M4 M5 M5 M8 M10
M3 M3 M5 M5 M6 M6 M8 M10
Mo;c’?ﬁmo ZR042 ZR060 ZR090 ZR120 ZR150 48 a8 70 70 100 100 145 165
C1 42 42 46 46 70 70 113.14 130
e (R L1120 L1142 35 35 36 36 60 60 113.14 115
BE e
15 20 45 90 115 = 3 3 3 3 5 5 4 4
a
B 75.5 99 98.5 149.5 149.5 172 240
ﬁaxx,%iiﬁlﬁfrque 3fEENE Hi i 7148/3Times of Nominal Output Torque ore o = . ) se e . e
TEN N D AR 5 : ! ‘ _
1500 1000 1000/ 800 800 B - €, s 52 80 a0 110 130
H)\ajt]j?fﬁjr:im kg— sz 0.02 0.06 0.46 0.8 1.72 62.75 748 86 98 128.7 138.5 162 206
\ H 12 12 14 14 20 20 25 40
Max. R;dgﬁa:-j':ﬁ‘)%e A~ B s 13.5 16 15.5 225 22.5 28 44.5
HEx iy ™
Miax Axlal Forcs N 150 p———n 500 1000 1800 B > 37.5 235 35 33.7 33.7 60 60
R/ Torsional Rigidity [RLTE. Oy 1.2 1.5 5 12 21 == 47 47 64 64 92 97 116 154
10 10 18 16 25 25 30 50
A i 8 b/ Ratio 2:1,5:1 2:1,5:1 2:1,5:1 2:1 2:1,5:1
it _ 4 4 4 4 6 6 8 10
E&®/Weight kg 0.7 1.3 4.1 8.5 14 41 53.5 56 68 83.7 93.5 104 134




MODEL:ZRH MODEL:ZRD

ZRH EfARBEERH[BRY ZRD EfiRBHERBERATY
ZRH RIGHT ANGLE PRECISION STEERING GEAR SERIES ZRD RIGHT ANGLE PRECISION STEERING GEAR SERIES

ZRD (3 H A1)

8 C1(P.C.D.)

ped

4
e
e L2

T_D | —8 MIP,c,n]—\

|

“@‘c\
N
‘7/@’

EX
% N
\\

N\J]

rd
:

\ﬁ/'
\

=0 o]

— L= F i T '/ = J.
(p’k\\ _: CZ(PI.aé.D} | lePB.'C.D} A=
5 | 11 GEAR HEAD <l z
& - x INET DIMENSION GEAR HEAD
e H (FOR MOTOR OUTLET) INLET DIMENSION

(FOR MOTOR QUTLET)

o  PRV.WADMEARY
P.R.V.WHDAEA R+ Hi&k Specifications(Unit:mm):  p'r'y'W'size may vary according to the motor flange chosen

AR Spectioations(Unitmm): R,V W Size may vary according to the motor flangs offoser Retrsizs
60 60 90 90 142

= 42.5 42.5 60 60 90 90 116 142 At 42.5 42.5 60 60 ) 90 20 116 142
42,5 42.5 60 60 90 90 116 142 B M3 M3 M4 M4 M5 M5 M8 M10
B v M3 M4 M4 M5 M5 M8 M10 M3 M3 M4 M4 M5 M5 M8 M10
M3 M3 M4 M4 M5 M5 M8 M10 M3 M3 M5 M5 M6 M6 M8 M10
M3 M3 M5 M5 M6 M6 M8 M10 48 48 70 70 100 100 145 165
48 48 70 70 100 100 145 165 a2 a2 46 46 70 70 113.14 130
42 42 46 46 70 70 113.14 130 35 35 36 36 60 60 113.14 115
35 35 36 36 60 ., 60 113.14 115 === 3 3 3 3 5 5 4 4

D 3 3 5 5 5 5 4 4 | E Y 97 . 125 125 189 124.5 218 313.5
66.5 66.5 88 88 145 <\ 145 172 240 215 21.5 27 27 46 46 46 73.5
10 10 12 12 42 42 46 73.5 36 3% 2 52 80 90 110 130
36 36 52 52 80 80 110 130 62.3 48 86 98 128.7 138.5 162 206
62.3 74.8 95.5 95.5 128.7 138.5 162 206 12\ 14 14 20 20 25 40
5 = i@ 14 20 20 25 40 B  : 13.5 16 15.5 22.5 22.5 28 44.5
CE 28 28 38 38 225 225 28 445 245~") 375 235 35 33.7 33.7 60 60

K 15.5 28 33 33 52 46 60 60 il 47 47 63.5 63.5 92 97 116 154
53 53 72 - 92 92 116 154 10 10 18 18 25 25 30 50
12.5 12.5 16 16 6 6 8 10 4 A # 4 6 B B 18
a1 52.6 63.8 63.8 83.7 93.5 104 134 41 53.5 56 68 83.7 93.5 104 134

55 \§




5 §idR A 3
DG SERIS ORDERING CODE
DG- 062 - 5- 5i#¥- ( 98-930-045-94.5)

in ESF- E Series

NG TABLE

T #E ¥ H %22 R ~tMotor output installation size

EERSEMotor model

Ek #1Ratio
Bfi. 510,15,18,
#7. 20,30, 40, 50,70,100

iR % 5 Type DG062,DG085,DG130,0G200,DG280

Em#%Z® (The product name)

EREE

Wiz Edk B/B B0 4 A/ AR T BE B/BE PR B9 S8 U0 T8/ 5 1E B B ARl AR 1A

J E n B B

1EEREEM, EUBES
EEERCIBERE, REEMABES +5sec, ERBES + 15sec,
2.5k, Sk

FRSEEEREENEEEHA, RBETHEMBIME,

3. %5 [ %€ fir
AEERERNEREEEHEN,

415 88 |5 2L 0] 55

BERTETHHERIRIE,

5. B #EE

HAoEIZFODEZERRE, AEVEENAETFE LES),

6. 4518
F{ERRET, ZEFD R NAY & FEL 1

7AEE A E
AIEEER KBS REHFERSE,




iz e dE T & K Fi Z4I/Central control rotating platform case

DG062

Ke#E T & R ~F/Rotating platform size

/i
@
L 7 I
/ggﬁ | a\o | |3 .
o
@\ sigl K
A ea*-‘gfg |m
\.S}r’” |w —
g %@ S
& 7
N _
\o\
Sh
gl
o al .
A= 4 r - —foodie
T
g
I___JI 21
L
FRiS DG062-5
B HDIA
ERERDIA
LIFELEEE
A& ENm
mAEEAN
SXMMmEHD N
EMFEHE Nm 10
FIFBEME Nm 20
EEimEmMEl mm
ESEMBEEI mm
FEFETE mm

[EIEEHEE arc—min
BEEffEEarc-sec
ENRE kgm®

o h

HE IR ST rimin
EAHANFEEL r/imin,
=& kg

BATFTRLR

e pagan
FIFHEIRE C

B AEEOIRERTE, XF@A TS, ESRMTRIE.
W IR S EEHERE SHEAARERE.
B BT RER . AR, AL,

) =
T T A
- g - v

>

DG062-10
42‘_5 HOR
~SOW.~ 100W
AT HK
b 137
1930
1930

6.5
13
+0.005
+0.005
0.015
%0.5
+5
4.5%10"
25000
200
500
0.55
IP50
& HEmAE ( Synthetic Grease)
-25°C~90 'C

{

i




61}

WE4E F & R ~f/Rotating platform size

- DG130

#D

PR
B HSIA /
1EffERSIE
Liprg e
BAMEDENM
mAEEAN
ExEn N
ENEIE Nm
FIFEMEEE Nm
FEEIREBEED mm
F&ZmEkEn mm
FEFTE mm
ElEFEE arc—-min
BEEUBEarc-sec
ERE kgm'
FHwh
BERLEH r/min
A AEEE rimin
HE kg
SR RNE
fishi= P
FIFEIRE C

l_|'|[|

195
1 J25
]
M,
A
| i(
%%m :xr {
SE¥ Uie
|
_:___:':'__ —+
| =
— 1
1 . |
I T
= i — o
[ OJ: S T
e S (B ¢ ~1 QI
i - i
Ly $y
- s | Lu
- 60
1 433 {
Leodol i e
AR 4 B
£ 4 B L_j k7 /_\,’|
R R T e
Y I D)
DGO85-5 DG085-10 DGO85-15
S7#EIA 57E DA 424 A
200W~400W S0W~100W
REETFHE
369
4800
4800
35 20 75
70 40 15
+0.005
+0.005
0.015
+0.5 O
+5
215104 S/
25000
200
450
1.4 1.1
IP50
& RERBHEAE ( Synthetic Grease)
-25°C~90 °C

B FEEAIERTE, XFRMAREE, SSRETRIE.

B I RIBHHEERESHRINBAARERKS.

B B FFRAEN. 2R, WAFRFELIEE.

D

T3] = F—bj
/4 415
) -
T =L
) oy
of \k‘ E%m%:ﬁ
ki
1 i__ji___

O—\ “‘\\%\ 7 | :F::I:'

o S [E: _E§
0 i
\Mm {L JZ_SJEF

e aed} 415

BRI EIA
IEERIER SiE
IhFFRE
RAAIRESIENm
BAEEA N
BAMEA N
MERE Nm
FIFEMEHE Nm
FEimmikah mm
EEEEBE mm
FEFTE mm
[E#E4EE arc-min
BEEfkEEarc-sec
HHEE kgm®
i h
EEHIHEEEL rimin

BASMAFEEL r/min .\

=& kg
BAHPTRER
HEhEyan
FEEFIREIRE C

DG130-10

50
100

B FEEAEERTE, XTaARFRE, FEERTRTHE.
B IR T ESHERESHRIIMHEAA RS,
B (TR ER. BE, MEAFELRhE.

STEBEEHEE_!E

200W~400W

TR AT
~ 1090
8400
8400

=0.01
=0.01
0.015
+0.5
£5
110*10"
25000
200
350
25
IP50

£ &HEEHEAE ( Synthetic Grease)

—-25C~90 T

DG130-18

22
44




% & R ~F/Rotating platform size

IE4dE F & R ~f/Rotating platform size

#Q 102.5 98.5

=t
il &
Fiks
K= |
N d 2-06 1
| SR & Seson egey
|5 |
. |
53 aab-
S e I 1
|
I
|
= = -t -
w |
% | 5
! = -
‘g :'L_ L.I y hg}
i i &
e
E grmsasaswﬁ*&ﬁg/» =
ERES DG200-10 DG200-18
BRI y N 86:E A 2
EERAARDE 750W N\
L= TR TFIF .
BAMENENM 2500
RAEEAN 12500
SXRHEEA N 12500
ENEIE Nm 130 _ 75
EFRIEEE Nm 230 150
EEinmEmyksh mm +0.005
FEE@EBEE mm +0.005
FE¥ETE MM 0.015
[EIFEFEE arc-min +0.5 o
BEEEMSEarc-sec *5 PR
HIHBRE kgm’ 880%10° .
#Fan h 25000 . °
FERL L /min 150
WAHNEESL r/min 300
FE kg ) 9.5
TR P50
pEh-papan 4 & iR mES ( Synthetic Grease)
SFRERE C -25°C~90 C

B FEMEAIERTE, XFMAGEE, SSRETRIE.
B I RIBHHEERESHINRAA RS,
B B FFRAMEN. R, WAFRELIEmE.

 DG280 |

E T 345
" 140 S R RS j: |
5 [ o> N
g C‘ O Y  mEnmen S| o pin % A
NS
| 4-M8HE — { , 'y
=] fomi ) —
W4 U] s 8 { - - — e =
88| - 8 = o)) =
: : 295 % i ‘/ -
s e PC.Do5 515 { . 0 2-M2.5'4
Qo 18 L
017.5 THRU
2-08'10 THRU
P.C.D-6296 "\ P.C.D-0212
8-oif THRU
FRae DG280-10
EmES D% 130% it T 1%
ERFIRDIA __1.5KW
R _BRETFE@E
BAHIENENM ~. 4850
SAERNN | 16000
RATHEA N | 16000
HEHE Nm 200
EYFIBIEAE Nm ' 400
E&tHmBEh mm +0.005
F&ZEE mm +0.005
FAFTE mm 0.015
B4R arc—min +0.5
EEEEEarc-sec +5
EIBE kom’ 200430%10°°
=% h ", X 25000
EEH S r/min L\ 200
SR r/min o 250
HE kg L N 22
PP TRAR A IP50
EESR i & &M (Synthetic Grease)
RIFFRERE C (-25T-90T )

B FEEAMRERTE, XTRAGESE, FERMTRTE.
B IR TR SR ERESH AN RS .
B BFFERAEE. KR, ARSI,




m & B R SR #1118 F3 SEl/Example of use with reducer S BRI AL{E A SEfl/Example of use with reducer

DGO06 21&HRLiEEH] DGOSSHEERIEH

6-M3TRE

il
1 295
i _ 15
Zay -
| R Ly L2ts |
£©) CEERE = i oy ﬁ
= = BE s TR = 5) = @iy I
e |1 f T )
. 3 ' == | : - _i"""" —7 - ) '
NN == Sl e . = B | e | S
B ’/ mu— S e s = L T E;@}j H g S5 LR = g
LS — =
= = w2 1] | | . - el SN H T 7
- Y 4 | I il
215 L. 4 §
5 L 325 315
795 (PR ) 435 77 (esERE)
FmiEs DGO062 mueE DGO085-5
SER DA \ 428534k BRI DA ST
BB DA ~) 50W ~ 100W | ERERDA ' SOW~100W. |\ 200W~400W
SRRk EWRTHR 1 SREpE ' TR
EAME SN 137 RAMEAENM )
wmAEEA N 1930 RAEEAD N 4800
SAEN N ' 1930 BAWAS N _ 4800
HEIRSE Nm I 10 &I Nm ' 35
FIFRIEAE Nm 20 FIFRIEHE Nm 70
FARERD mm | £0.005 FAGERED mm £0.005
EEEaEbE mm +0.005 FE&E[BED mm 40,005
FETFTE mm 0.015 FEFTE mm ' 0.015
IEIi’s’ﬁE arc-rmin +0.5 OISR arc-min . +0.5
BEEEEarc-sec : 45 S EEEiEEarc-sec | 15
HHIRE kgm’ 4.5%10° ¢ ) SEHIRE kgm’ ' X 21+10*
FHih 25000 Y Fas h s\ 25000
@EGHES fmin 200 .. FREE L r/min WY 200
BAHAEE r/min ' 500\, BABANEL r/min - 450
EE kg 055) FR kg A 1.4
TR P50 BSIPTRR P50
Hiili=yatan £ &RAiRmAE ( Synthetic Grease) Pel=pakn B £ & M08 E ( Synthetic Grease)
SVFIREIREE C ~25C~90 C ATRIBRE C SBEH0T
B AEMELFERTE, XFOAHEE, SERMTRIE. W AEEARERTE, XFRARES, SSERTRTE,
B R T ERRERE SRR AR AR, B NIRRT A HERE SRR AR,
BEFERRNEN. AR, MERBEUSIAL. W EFERREEN . BE, WS,




B R AL A S fil/Example of use with reducer

DG 130+& 80 E

1594

o gl5 o
6.
i_ i
114
|5 'M.
I“-\-\.a'; ! =
%%%‘“iri, AR
= |
i TR (j-5)
- = ] N
a7 M = T T
' I -
D 1 FT“JFE%
K N — L 1 2 9 =l
o Bic sl ¢
\""'\-\_._ =\ IL_
(@ L_jL__J: =

\4-M5RE10 PLOBTY 5

40 325 i3
435 77 (e
07 ( WAREEEE )
FRES DG130-10
EfEHEIA ! S7/86EHDIA
BRI ~J 200W~400W 750W .
TS EETHE b
EAIENENM ' 1090
mAEED N 8400
SXMEA N 8400
EMEHHEE Nm 50
SUFBIEIRSE Nm ' 100
F&immskeh mm =0.01
FAREBEN mm ' =0.01
FEFFE mm ' 0.015
[ElEEFEE arc—min +0.5
EEEisEarc-sec | +5 o\
EHRE kgm’ 110*10° ¢ )
#Edh 25000
EnERI S r/min 200
AN rimin 3500\,
EE kg 25
P HTRAR P50
imEE £ &R #AE ( Synthetic Grease)
AFHERE C -25C~90 C

B FEUEATRERTE, XTWMAGFE, SERBuRIE,
B NN R I BREHRERBSHRNBRAARBRE.
B BFFRTEREN. AR, NEFFELIZImhE.

2 ERIEHLE ASESI/Example of use with reducer

DG200EELRIEN,

°) :

985

Si70hT
@14 fHT
2100
T

'%"J

2385

d-MEXRID PLOR) T i \ E’
------ 37 BAESHELIA /
FRES DG200-10
SR DA 1304 i B ik
BRAEDA _A5KW
MR T EFHAR
BAMEAEN _ ) 4850
BAREAN 16000
E=AME D N 16000
HEEIRSE Nm 200
FFEMEHEE Nm 400
FE&inmEaksh mm +0.005
FEaEEEED mm +0.005
FEEFETE mm 0.015
EIHHEE arc—min . +0.5
BEEiEEarc-sec +5
HERE kgm’ Y 200430*10°*
& h 29 25000
TR r/min Y 200
BABANIES r/min N 250
B kg | 22
B5 4R TG A IP50
s £ & AR @AE ( Synthetic Grease)
AUMEIRE C (-25T-90C )

B FEEATHERTE, XTRARES, EERBIRTE.
B RIS EHHEERBSHRNEARA RS
B HFFRARER. 2R, WAFFELEAE.




HEEE T & 224515 Bl H/Rotating platform installation instructions

AR, 4 5. 10, 20, 508 945

230
140
_Flf)c = < C)Q ik 110 K254
8| - _‘, 8
@ AL 8150 = =
PL.D0I4S [ i =
i N BN P S AJi41922 : l l_|[ ]| N2k
8 8 s e
I|| ’ ||I 5 2-98'10 THRY
- Ll PC.D-0296\ PC.D.-0212
& 8-411 THRU
B ”gll |
Jg+ .
ofig

BB DIA 1304 i# B 3% ,
BEARDZA 1.5KW A
iFEpE 3 XE TR )
SAHEFIENM 4850
mAEEAN 16000
SX4MEH N 16000
ERFEE Nm ' 200
FUFIRMESE Nm . 400
FaismEbka mm ' £0.005
FEGEEBERD mm . +0.005
FAFTE mm : 0.015
EIK%EE arc—min +0.5
BSOS Earc-sec | T N
TEENIRE kgm’ 200430%10°. . -
& h ' 25000 . )
WERHLEH /min 200"
WA NS r/min 250
BEE kg mo”
PR : 1P50
[l paEe . =& A% mAE ( Synthetic Grease)

RAIFIREIRE T (-25T-90T )

B FESERRERTE, XTHARERS, F2ERTRTE.

B I RTESHERESHRIEAA RS,
B BTFFRAHER. 2R, WALk,

69}

BAMDAMERFANRTHTIR, HiEkE FFEEA=EREEE, ARERENE, B2 BRASEEISEREFHRREZEEE
EFFE S . BEIRERE. 1 &, EEHIRTETE.

EREEHERETa, 2 EREEER. EREEMRERETD, 2 REREER. ZEERE.

E2: IRF IR EEEE

DA Z4ETa(8.8T) SRIREEET(12.9T)
wRFERERY

Kaf.cm
M3 1.28 13 2.15 22
M4 29 30 4.95 50
M5 8750 59 9.7 ' 99
M6 509" 101 16.5 ' 168
M8 | 24 245 ' 40 I 408
M10 K 48 ' 489 81 826
M12 I 83 846 140 ' 1428
M14 i 132 1346 220 2243
M16 200 2039 340 3467




90 E 5 EEM=ES / 90 degree precision steering‘gear

e

A(8BE £A356T6HIE)
AT M
B AT M
bl
W
RIER
WL - BERERY
WA >
s BEER
WAL EE TEER

R HE < AR RLE AL 2E / HZT /iTHIH

51

R e 1 R ALK / HZT R 51 / Ktk

HZ: 1 g

HZT-L/-L1/-R1

HZT-FL/-FL1/-FR1

HZT-H/-C

HZT-FH/-FC

HZT-4M/-LM/-RM

4 B 4F SFUTURE

o ARM S FER T

B|aEe HIT
2l i HH ol o

 ORENES e % L prigithey
- HZT065,HZT075,HZT090,HZT110,HZT140, 1stage:1,1.5,2,3,4,5 |
' HZT170,HZT210,HZT240,HZT280 2 stage:7,10,15,20,25,35,50 ®14X30/®50X
| 3 stage:75,100,125,150,200, 3/4-070-05.5
250,350,500 :
HEaRTEES
L/L1/H/C/R1/LM/RM/4M MLRE SRR
FL/FLM1/FLM2/FL1/FL1M1/FL1M2 S1:3 78 L4
FR/FR1M1/FR1M2/FH/FHM1/FHM2/ | S2:M S EH
FC/FCM1/FCM2

718

* ®mHEA
- BHE
s ERZWK
s IREER
« Gl

s REMRERS

* BER%

BE - A kE

Different material shell design

Aluminum alloy HZT

Various output shaft options

High torque
high efficiency
long lasting

Low backlash

Maintenance free

Flexible according to size

Color options

black, gold, body color




82 HE U H AL / HZT & 51/ HesE

HZT &% REEE 77 5]

1 —
EEER
St S
Em s
) RN
HZT-L HZT-H HZT-C m
HZT-FL HZT-FH HZT-FC Xt ‘I
=
I I
_‘ | ° —0 >-¢-
%‘_’ ‘!_"” %::{'—r'—‘
IREEX inewX
1 |
HBEN LitE]
I_m.—l —d )
HZT-L1 HZT-FL1 I HZT-LM I
i
[ {111
° ° + -9
*n | _
e i
= 11
s Nre +Pe
| | 1
RN BEER
| — — | — ]
HZT-R1 HZT-FR1 @' HZT-RM '
{OF % S i i
" D D
- SSD-d16xdw14 a1 At 26 15 18.5
SSD-d22xdwl8 50 22 36 19.5 23
SSD-d25xdw22 50 25 38 19.5 23
. SSD-d44xdw32 80 44 61 25.5 29.5
8 8 t+HBE SSD-d50xdw40 90 50 70 27.5 31.5
1 SSD-d62xdw50 110 62 86 30.5 34.5
i ) SSD-d68xdwb5 115 68 86 30.5 34.5
SSD-d75xdw60 138 75 100 32.5 38

EABALA
RTELELE L (Eq.2)

FHEERmET &= 1

HiBETom (Eq.3)
35 o Bk
Ei T2 rna:':[Eq.‘”

AKX
il i A

=T B A 5 B & T 8 En2m
B im B AR GE o 3% En2N

BB K BiEH
1 ARV B

stEmEESEH FATE 2z FHERHF2rm
B 5] SIF2am (Eq.6)

ETEELE#G H ERFE > EHEEAF2rB
= 1IF2aB

158 P K i i

S5 B 2 2 IR
—RPEREREFAUT AR

FREMERAREAFEUT LN

Ji A#EE
Jm HiEEE

4 Lhi 4L

o R 3
ERA

FE R i E S st

Bl

1.ED= X 100%, t yor = L+t +4

TR a.niE cZiE
d.EliE p.fElE (Eq.1)

l’.Ill'|
Myork

Mm  55IEH HEE
Mwork B 5% FE i 2 (Eq.2)

2.i=

<~ %jnz,xt,ﬂh’mkxtcnh’mw XX Toq
2m

Moa X+ Npe X 1+ X1
(Eq.3)
4. Tomax = T X X K0
KsE R
Ks PR R/ B
1.0 0~1,000
1.4 1,000~1,500
1.3 1,500~2,000
1.6 2,000~3,000
1.8 3,000~5,000
Tme iR B AW 5
N R E (Eq.4)
5. Ny, = Nyg =—;-xnz:
Mza Xt + Mo X #pq X1y
ey
= (Eq.5)

Ny, Xt x le,3+ Ny Xt x Fz,::’mzﬂ Xxtyx Fzma
8- Fom= 3 Ny X L+ Ny X b +Nyy X1y

Ny, xt,x Fmad-nkxtchmamuxl,x FM8
Fem" My X L¥ Ny X T, #gq X1,
(Eq.6) .

y/ 74




SE e UG A RS / HZTR 5 / S B 1% A

R L5 B T2 1 R R 7D

BWENGHRTRAZIBXRE LA, RWAABIERRZRIT.
STYRENRA AR TR ARBREEN R, HRAZEXNEER

PISER
HZT @i\ B FE B S1F e HZT 8@ N B FE B S1F2e
i . »an : =
ZH o Z W 2 e
gg 13,500 \ Rgm \t\ HZT110
wd NN e e A e
R& b \"“-a_ R&m N N —HZTOES
g&R = ~— g B ~—
e~ prE——
3 | 3 ] —
- e — - ——
" . i . T —— | o e e ——]
200 900 1500 2100 2700 3300 S000 4500 5100 S50 6300 6900 7500 300 900 1500 2900 2700 3300 3000 4500 5100 5700 60 60D TI00
WAMEE n,, [rpm] LR n, [rpm]
LBEN Fo, BOFRPOCIEED X=1/2 xL 64,
AEMB 2 RENEARBRLERIEET, BHEHDN 20,000hr 8,
MRS 2B RO Fa, BERES,
HZT i %
& & ul ki
- B s
ﬁ ﬁ - e
& g N
. - ar
& a

EANMEAE X [mm] FERAAEAHAE X [mm]

LRBAN F, BAREHPOAIEDT , BSETRENED X < 1/2 xLbT, RS 2T RANEX, HiZEAEHNEX > 1/2 xLbT,
FERZZEFRAANANEN, BHEE, RERNMBRZANDBAHME X, SEUTATRE K.

R aE L JHZT 25 / e H

HZT iEH g‘( %E;_}JIES

@ HReSHE (HZT R7 Hfk, MESHZTRIER)

HZTOBSL  HZTO75L HZT110L  HZT140L HZT170L  HZT210L  HZT240L
HZTO65 L1 HZTO75 L1 HZT110L1  HZT140L1 HZT170L1 HZT210L1 HZT240L1
HZTOB5H  HZTO75H HZT110H  HZT140H HZT170H HZT210H  HZT240H
5 HZTOB5C  HZTO75C HZT110C  HZT140C HZTi70C HZT210C  HZT240C
B Y5¥ mii#EEL HZTe5R1 HZTO75 R HZT110R1 HZT140R1 HZT170R1 HZT210R1 HZT240 Ri
Unit Stage Ratio
HZTO75 LM HZT110LM  HZT140LM HZT170 LM HZT210LM  HZT240 LM
HZT075 RV HZT110RM HZT140RM HZT170RM  HZT210 RM  HZT240 Rt
HZTO75 4\ HZT1104M HZT1404M HZT1704M  HZT2104M  HZT2404M
1 25 45 78 150 360 585 1,300 2,150 3,200
15 25 45 78 150 360 585 1,300 2,150 32
BEREHE i £ 2 24 42 68 150 330 544 1,220 2,010 3,050
Rated output torque To, 3 18 33 54 120 270 450 1,020 1,650 2,850
4 13 28 48 100 224 376 860 1,410 2,300
5 12 25 40 85 196 320 740 1,210 2,000
B AIESE Tos Nm 1 1-5 15 EEERENE
BAMERATEE n ¢ pm 1 1~5 7,500 6,500 5,500 4,500 3,500 3,000 2,200 2,000 1,700
e arcmin| 1 1-5 <6 <6 <6 <6 <6 <8 <8 <8 <8
3 a2 N
5‘;%&” d':”’ N 1 1~5 700 950 1,450 2,100 2,700 3,800 7.800 8,600 [\,10,500
3 1*]
5‘;%‘%” d;“ N 1 1~5 800 1,100 1,700 2,700 4 800 6,600 11,500 16,000 18,000
-]
##’mﬂiﬁg] d’;“’ N 1 1~5 350 425 725 1,050 1,350 1,800 3,800 4,800 5,250
D
9‘;&'2’ d;“ N 1 1~5 450 550 850 1,350 2,400 3,300 5,750 8,500 9,000
ERES" hr 1 1~-5 20,000
WE n % 1 1~5 204%
EREE " 1 1~5 -10°C ~90° C
i SAERE
BE(E (n=1500pm, EAK) [dB(A)| 1 1-5 <68 | <70 <74 <76 | =77 <78 <80 <82 <83

@. REVSEE (HZT 5 HeE, MIBSHZTRIER )

HZTO75L HZT110L HZT170L  HZT210L  HZT240L

HZT075 L1 HZT110L1 HZT140L1 HZT170L1 HZT210L1 HZT240L1

HZTO75 H HZT110H HZT140H HZT170H HZT210H  HZT240H

HZT075C HZT110C  HZT140C HZT170C  HZT210C  HZT240C

BAT P OEEEE HZTO75 R1 HZT110R1 HZT140R1 HZT170R1 HZT210R1 HZT240R1

Unit Stage Ratio

HZTO75 LM HZT110LM HZT140LM HZT170 LM HZT210LM  HZT240 LM

HZTO75 RM HZT110RM HZT140RM HZT170RM HZT210 AM  HZT240 RM

HZTO75 4M HZT1104M HZT1404M HZT1704M HZT2104M  HZT2404M
1 0.561 130 3.16 7.70 23.57 58.89 185.40 360.34 798.12
15 0.64 116 282 B6.74 18.37 49.28 156.45 283.58 586.78
2 0.44 111 2.70 6.31 17.76 45.35 140.24 248.74 511.76

2
RDRE . e . 3 0.43 109 2.66 6.17 17.18 44.01 134.95 237.71 483.06
4 0.43 1.09 2.65 6.13 17.06 43.70 133.58 23472 476.26
5 0.43 109 2.65 6.12 17.02 43.60 133.14 233.67 473.658
0 xn
& B £ Rl 15

ade ge Ratio 06 0 090 0 0 0 0 0 0
LEH 1~-6 26 42 6.8 116 188 34.8 66.2 88.1 1686.7
L1 ®&5 1~5 26 4.1 6.7 115 1956 34.2 65.1 96.6 153.4
H #&5) 1-5 25 39 6.4 11.0 18.1 316 60.0 89.4 143.4
C &5 ke § 1~5 28 42 6.9 114 18.6 337 63.3 97.9 149.1
R1 #5 1~-5 26 41 6.7 115 18.5 34.2 65.1 96.6 153.4
LM X5 1 35 5.6 9.0 15.2 241 424 814 122.0 180.9
RM E5 1 3.5 56 8.0 16.2 241 42 4 814 1220 1808
4M R 1 35 5.6 9.1 15.4 248 426 825 123.5 183.3

A LE# (i=N, /No) HZT-LM/RM/aM Ri24t 11 k¥
B. WR{ERTE 2% SENE T2N AL TNE,
C BAMEBRAEE n, FRTRARPLE,

D. BAMER HEE n (FATRARDLUE,
E ESEHEERF A 10,000 /et ,

F REESSHERELR SEETAS.




HZT -L

(B4 , WEti=1~5)

m

L11

SERIES
#51
Lil . L1l
s &
0® | e

L13

el @it

i
o ]

T3}

Fidke

o JEEEDINGAEG/ LI

p HHIDDNGRS | R

HZT -L1/R 1%y

SERIES
#51

(B, WiE thi=1~5)

- s L1
£ [N LY
) o E |
= = [E 7 o o
= 51 -
" | /i _é E [: ﬂ f% 1
o © 2la] LEN= gg/ ] =
] I
L2 14 ! L2 =] Q
1 1
& i Lz ) uid il
L21
L22
HZT RIIR 5 (861: mm)
I 06 ) 090 ) 40 () 0 4(0) 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 v 63 73 < | 88 108 135 165 205 235 275
D6 M4 M5 5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 ( 82V 76 95 92 114 142 160 176
D9 4xMé4xLT 4XM5XL8 4XM5XL8 6xM6xL10 6xMBxL10 | 6xMBxL125 | 6xMBxL125 | 6xMB8xL125 | 6xM10xL15
D10 154 o~} 204 258 368 498 59.3 793 92.3 102.3
D11es 62.9 729 87 107 103 127 158 178 198
D12 e T 72 86 106 104 128 160 180 A 200,
D13 = 13 16 18 22 32 40 50 55 60
D14 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
5 65 75 20 110 140 170 210 240 280
L2 195 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 F] 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 48 48 70 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 55 67 A 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 ~N\6 ) 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 3\ 10 10 10 10
L18 43 52.5 55 60 60 70 80 105 120
L19 45 48 4.8 7.2 107 12 12 12 15
L20 10 12.5 12.5 19 28 36 36 36 42
L21 75.5 90 100 115 130 155 195 225 260
L22 95 120 135 155 180 215 270 310 370
Bl 5 5 6 6 10 12 14 16 18
B2 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 535 59 64
H2 15 18 205 245 35 43 53.5 59 64

L1l L11 11 L4 L2
T4 | -
3 e 1 o ®
= - -t Ds
2 l_[°| Hoe ‘ e | hd
s s Doss
f-m L1
= b L1 L1l
° ° 2 ]
__ Y BNt
3 S ] —|- 6%\ :
° ® e [ k& =
L2 L4 L4 L2 o Q
o K Lz | L4 \L
L8 L8 21
HZT RFBIR & (4 mm)
A 0 H U R LS H 0 H 40) H 0 H U R U H o0 H
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 63 73 88 108 135 165 205 235 275
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 118 Al 142 160 176
D9 4XMExXL7 4XM5xL8 4xXM5xL8 6xMBxL10 6xMBxL10 | 6xMBxXL12:56 | 6xMBxL125 | 6xM8xL125 | 6xM10xL15
D10 154 204 258 358 498 593 79.3 923 102.3
D11 62.9 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 | 128 160 180 200
D13 13 16 18 22 32 40 50 55 60
D14 63 73 88 108 135\ 165 205 235 275
D16 M4 M5 M5 M8 Mi2 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 195 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 48 48 7.2 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 85 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 LS 16 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 26" A 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 <\ 8 8 8 10 10 10 10 10
L18 43 52.5 55 60 60 70 90 105 120
L19 45 (LN 48 4.8 T2 10 12 12 12 15
L20 10 125 125 19 28 36 36 36 42
121 765 90 100 115 130 155 195 225 260
122 95 120 135 155 180 215 270 310 370
Blm 5 5 6 6 10 12 14 16 18
B2m 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 535 59 64
H2 15 18 205 245 35 43 535 59 64




HZT -H " aw . mgii-is)

L1

B Li&
B L1l LIl o D2 r ol (KEEDINGBRS, | BRHE
i % 7N S
o /i' i & E
= 4 = '
f D16 L19
5 9 L B ats1 sz (2013
= T T ()
= 5 3
L
i,
% LIV 11
S[4 |
3 3
2 z LB S INY R 2
s s El§ G Q; ] -
Tt -
] 121 \; \m
122 fE flIEDINGSRS /1 fELiE
HZT &3 R & (8 4fEmm)
% U6 ) D90 U ) L) L) 40) 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 13 14 18 22 32 40 50 55 60
D4 W 63 _N\73) 88 108 135 165 206 236 275
D7 21 \AY 28 33 47 565 75 85 110
D8 53 62 76 85 92 114 142 160 176
o] 4xXMAxL 4xM5XLB 4xM5xL8 6xM6xL10 6xM6xL10 | 6xMBxL125 | 6xMBxL125 | 6xMBxL125 | 6xM10xL
D10 154 20.4 25.8 35.8 498 59.3 79.3 82.3 102.3
D1le 629 72.9 87 107 103 127 158 178 A\ 198
D12 62 72 86 106 104 128 160 180 200
D13k 13 16 18 22 32 40 50 55 60
D14 w 63 73 88 108 135 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 80 110 140 170 210 240 280
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L11 27 30 36 a4 55 67 85 95 110
L12 19.5 30 35 40 50 60 75 85 110
L13 13 15 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 25 28 32 45 50 70 80 100
L16 2 25 35 4 25 & N> 25 25 5
L17 6 8 8 8 10 10 10 10 10
L18 525 55 60 60 ~ 79 20 105 120
L19 45 48 48 72 10 12 12 12 15
L20 10 125 125 19 28 | 36 36 36 42
L21 755 20 100 115 130 155 185 225 260
L22 95 120 135 156 180\ 216 270 310 370
L24 30 32 35 35 “=50) 55 65 80 80
B2 5 5 6 6 10 12 14 16 18
B3 5 5 6 6 10 12 14 16 18
H2 15 18 20.5 245 35 43 535 59 64
H3 15.3 163 20.8 248 353 433 53.8 59.3 84.4

HZT -C

SERIES

RI (B, BEHi=1~5)

L3 L1

) ko L16 L16:
L.26 = e /2u /‘\ | _T_r]_,f_ #t: fPEDINGSRS, 1l e
ki = 4 L25 @& = /— J\ >
= al | 1] [20 |
o ) aEstsn D013k dl sz o1z
[{ PN ]
= L1
.:.T_. L1l L1l
h=8
3 °
HEIE 31 2] 2 SE ] Kﬁ' @ o
L= = at D48 g= = &@ £ 7
®
gL
L2 ]
3 L2]1
L8 a9
HZT RA R 5% (B Himm)
A Bs U 90 0 U ) 0 40 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D2 e 13 14 18 22 32 40 50 55 60
D31 16 16 22 25 44 60 I 62 68 75
D4 63 73 88 108 135 165 205 235 275
D8 53 62 76 85 82 A1 142 160 176
D9 4XMaxLT 4XM5xL8 4XM5xL8 6xM6xL10 6xMBxL10 | 6xMBXL125 | 6xM8xL125 | 6xM8xL125 | 6xM10xL15
D10 154 204 258 358 498 (7583 793 923 102.3
D11 629 729 87 107 103 127 158 178 188
D12 62 72 86 106 104/ 128 160 180 200
D13 % 13 16 18 22 32 40 50 55 60
D14 w 63 73 88 108 135 165 206 235 275
D16 M4 M5 M5 M8 mi2 M16 M16 M16 M20
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 20 110 115 138
L1 65 75 20 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 305
L3 13 145 16 16 15 15 20 25 25
L4 2 2 2 2 2 2 2 g 2
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 95 1165 1335 1615 1815 205
L11 27 30 36 [ 565 67 85 95 110
L12 195 30 35 40 50 60 75 85 110
L13 13 15 ) 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 26, 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 . aNs 8 8 10 10 10 10 10
L18 43 525 55 60 60 70 90 105 120
L19 45 /“\ Nag 48 72 10 12 T 12 15
L20 10 125 125 19 28 36 36 36 42
L21 755 o 90 100 115 130 156 195 225 260
122 95 120 135 155 180 215 270 310 370
L25 16 16 195 195 265 2756 3056 305 325
126 185 185 23 23 205 315 345 345 38
B2 5 5 6 6 10 12 14 16 18
H2 15 18 205 245 35 43 535 59 64




HZT -LM/RM

SERIES

EY]

(B9, WEtbi=1~5)

| Lz

ity

i
P

(=) (=]
HZT &RR & (842: mm)
. Ub H H U4 0 H 0 R R R 0 R 8 -
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 W 63 73 & 88 108 135 165 205 235 275
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 56 75 85 110
D8 53 (@4 76 95 92 114 142 160 176 4
D8 4XMAxXLT 4%XMS5XLB 4XM5xLB 6xM6xXL10 6xM6xL10 | 6xM8xL125 | 6xM8xL125 | 6xM8xL125 | 6xM10xL15
D10 1654 204 25.8 35.8 49.8 59.3 79.3 82.3 1023 \_
D11 62.9 72.9 87 107 103 127 158 178 188
D12 e~ 72 86 106 104 128 160 180 A 200,
D13 13 16 18 22 32 40 50 55 60
D14 W 63 73 88 108 135 165 205 235 ) 216
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 195 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L6 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 a7 112 137 162 202 232 277
L9 45 48 48 72 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 195 30 35 40 50 60, 75 85 110
L13 13 15 15 15 15 PR ) 20 25 25
L14 2 2 g 2 2 2 2 2 2
L15 16 25 28 32 4 (| ~s0 70 80 100
L16 2 25 35 4 25 5 25 25 5
L17 6 8 8 8 10\ 10 10 10 10
L18 43 525 55 60 60 70 20 105 120
L19 45 48 48 72 10° 12 12 12 15
L20 10 125 125 19 28 36 36 36 42
L21 755 90 100 115 130 155 185 225 260
122 95 120 135 155 180 215 270 310 370
Bl 5 5 6 6 10 12 14 16 18
B2 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 535 59 64
H2 15 18 205 245 35 43 535 59 64

HZT -4M

SERIES
E ]

(%Y, WEi=1)

L1

L1l

L3

bl

L

vz

AT

=
W I e

Blie

LS

i R HID NGRS

HZT RAIR 5% S
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60
D4 wr 63 73 88 108 135 165 205 236 275
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20
D7 21 22 28 33 47 55 75 85 110
D8 53 62 76 95 92 1A \AN 142 160 176
D9 4xM4xLT 4xXM5XL8 4XM5XL8 6xM6xL10 6xMBxL10 | 6xMBxL12:6° | 6xMBxL125 | 6xMBxL125 | 6xM10xL15
D10 15.4 20.4 25.8 35.8 49.8 ~ 6.3 79.3 82.3 102.3
D11 629 72.9 87 107 103 127 158 178 198
D12 62 72 86 106 104 | 128 160 180 200
D13k 13 16 18 22 32 40 50 55 60
D14 63 73 88 108 235\ 165 205 235 275
D16 M4 M5 M5 M8 M12 M16 M16 M16 M20
L1 65 75 90 110 140 170 210 240 280
L2 195 30 35 40 50 60 75 85 110
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167
L8 67 84 97 112 137 162 202 232 277
L9 45 48 48 72 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110
L12 195 30 35 40 50 60 75 85 110
L13 13 15  ShN\ 15 15 15 15 20 25 25
L14 2 2 2 2 2 2 2 2 2
L15 16 N 28 32 45 50 70 80 100
L16 2 25 35 4 25 5 25 25 ]
L17 6 ~\ 8 8 8 10 10 10 10 10
Li18 43 52.5 55 60 60 70 80 105 120
L19 45 N 48 48 72 10 12 12 12 15
L20 10 125 126 19 28 36 36 36 42
L21 755 90 100 115 130 155 195 225 260
L22 85 120 135 156 180 215 270 310 370
Blm 5 5 6 6 10 12 14 16 18
B2 e 5 5 [+] (] 10 12 14 16 18
H1 156 18 205 245 35 43 5356 59 64
H2 15 18 205 245 35 43 5356 508 64




HZT: 22 7 3

@ HRESHR (HZT RI H, MESHZTRIER )

1 25 45 78 150 360 585 1300 | 2150 | 3200
15 25 45 78 150 360 585 1300 | 2150 | 3200
2 24 42 68 10, | 330 544 1220 | 2010 | 3080
' 3 18 33 54 120 270 450 1020 | 1650 | 2850
4 13 28 48 100 224 376 860 1410 | 2,300
5 12 25 40 85 196 320 740 1210 | 2000
7 25 30 70 165 196 220 450 960 1050
10 24 28 68 150 208 208 430 846 846
15 18 33 54 120 270 312 645 1269 | 1,269
2 20 13 28 48 100 224 376 860 1,410 1,682
Ratezﬁoftfuutjtfrfue Tu Nm 25 12 25 40 85 196 320 740 1,210 2,000
35 12 25 40 85 196 320 740 1210 1,780
50 12 25 40 85 196 320 740 1,210 1,465
75 - 45 78 120 210 312 585 1,269 1,269
100 - 45 78 100 224 376 780 1,410 1,682
125 - 45 78 85 196 320 740 1,210 2,000
150 = 45 78 120 135 312 380 a7s 975 | \
? 200 - 45 78 100 180 376 520 1,300 1,300
250 - 45 78 85 196 320 650 1,210 7|\, 1625
350 - 45 78 85 196 320 740 1,210 1,780
500 : 45 78 85 196 320 740 1210 | 1465
T AN DT Nm | 1,23 | 1~500 15 EHEERMENE
1 1-5 | 7500 | 6500 | 5500 | 4s00 | 3500 | 3000 | 2200 | 2000 | 1700
3 T S5\ pm 2 7~50 8,000 8,000 6,000 6,000 6,000 6,000 4,800 3,600 3,600
3 | 75500 : : - 8000 | 8000 | 6000 | 6000 | 6000 | 6000
1 1-5 <6 <6 <6 <6 6 6 <6 6 6
# 5B arcmin| 2 7~50 <8 <8 <8 <8 58 <10 <10 <10 <156
3 | 75500 . <12 <i2 <13 <13 <15 <15
.
gg@@ﬁ; o N |123| 1-500 | 900 1100 | 1700 | 2700~ 04800 | 6600 | 11,500 | 16,000 | 18,000
gﬁmﬁlﬂg*"o N | 123 1500 | 450 550 850 1350 | 2400 | 3300 | 5750 | 8500 | 9,000
EARES O he | 123 | 1-500 20,000
1 1~-6 294%
HWEn %
23 7~500 280%
EARE Ld 5 123 | 1~500 -100C ~ 800C
i S RLER R
&M (n=1500rpm, Ef1dt )5 | dB (A)| 1,23 | 1~500 =71 I =72 I <76 I <77 [ <78 l <79 | <81 | =83 ] <B4

83 \§

HZT?% l:{: ﬂ %E}I%JIES

'@' BEVEDRE (HZT &7 108, MESHZTRFERF )

D 09 0
Hee e & e £ ot & T = =
1 051 130 314 7.62 2354 5909 | 18596 | 36538 | 787.63
15 0.46 115 280 6.65 10.34 4938 15602 | 27962 | 58428
2 0.44 110 268 6.23 1772 4544 | 14080 | 24578 | 500.26
1
3 0.43 109 264 6.08 17.16 4411 | 13551 | 23375 | 47156
4 043 108 263 6.05 17.03 4379 | 13414 | 23077 | 464.76%
5 0.43 108 263 6.04 16.99 4369 | 13371 | 22071 | 46208
7 0.15 0.15 0.50 279 279 279 991 2026 /[ 29.26
10 0.15 0.15 0.50 2.80 2.80 2.80 9.96 2043 29.43
15 0.15 015 050 280 280 280 9.96 2943 | 2943
2 20 0.15 0.15 0.50 2.80 2.80 2.80 9.96 29.43 2943
$EZH 1 . kg cm? 25 0.15 0.15 0.50 2.80 2.80 2.80 9.96 20.43 2043
35 0.15 0.15 0.50 279 279 2.79 9.91 29.26 29.26
50 0.15 0.15 0.50 279 279 2.79 9.89 29.20 29.20
75 . < a 0.15 0.15 0.50 0.50 2.80 2.80
100 < : = 0.15 0.15 0.50 0.50 2.80 2.80
125 2 . 5 0.15 015 0.50 0.50 2.80 2.80
150 : - s 018/ |\ 015 0.50 0.50 279 279
g ¥ AX
200 . - - 0.15 0.15 0.50 0.50 279 279
250 - - - ]\ o015 0.15 0.50 0.50 279 279
350 . . - 0.15 0.15 0.50 0.50 279 279
500 = . - | o015 015 0,50 0.50 279 279
oL
H6 EEhS 06 0 090 0 0 0 i 40 80
1 1-5 28 44 7.1 12.1 20.9 36.1 60.4 1012 168.3
FIZ3 2 7~50 32 48 8.1 143 242 385 741 1124 171.0
3 _|[75~600 - - - 139 237 388 734 1102 168.7
1 1~5 27 43 71 119 20.3 355 68.3 99.6 156.0
FIZ3I 2 _{-7~50 32 48 80 142 239 379 730 1108 1686
3, | 75~500 5 - - 138 234 38.2 723 1086 166.4
1 1-5 26 41 67 114 189 329 632 925 146.0
FHZ 5 kg 2 7-50 31 46 77 136 224 353 678 1037 168.7
3 | 75-600 - - - 133 218 3566 67.2 1015 156.5
1 1-5 29 44 7.2 118 20.4 35.0 66.5 96.0 1617
FCEF 2 7~50 33 49 82 141 241 374 712 1072 164 4
3 | 75~500 5 E 2 137 235 375 705 105.0 162.2
1 1~5 27 43 7 19 203 365 683 996 156.0
FR1Z3] 2 7-50 32 48 8.0 142 239 379 730 1108 168.6
3 | 75~500 z - z 138 234 382 723 108.6 166.4

A ¥ (i=Nin / Nout)
B. HR{ERE 2% SENE T2N AL TNE,
C BAMERAEE n1B FRTFRARPMIE

D. EGE%HE AFEH % 10,000 /NeY,
EREESSREREILRBEETNAS.




SERIES SERIES
HZT 'FL 5 (%, W Hi=1~5) HZT "FL E3 ]| (B9 , W tbi=1~50)

L3 L1 L3 L = L1 == L
{Lﬂ&] 1 I._”_-I | oL
$ & 16 L5 ° ¢
- = i WD INGSAE/ | B
iz il /i’\ B T /\t\ -
E < L= \‘;l-l/ Iﬁ - ; : \+/
{ I e s prat Bidis —1 : Wi T
3 (Nt B
E L s r Fi
: E [ I @D15
= o
A cZ
‘K il s - ;::. |1|”111 i — = =
s, R . S
i T 5, ]
HEH —( 3 TUS il IER z &| BB | AR 5
[w:] 121
12 14 14 | o £ i (8, L2l
L L L2 bl LT 17 L22 o
L8 L8 - 18 18 o
= 06 U LS80 0 40 ) ) 40) &l A 0 0 090 () U U ) 40 8
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 13 16 18 22 32 40 50 55 60 D3 13 16 18 22 32 40 50 55 60
D4 i 63 738 ) 88 108 135 165 205 235 275 D4 7 63 73 88 108 135 165 205 235 275
D5 31 35 43 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M4 M5 M5 M8 M12 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16 . M16 M16 M20
D7 21 22 28 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 62 i 86 106 104 128 160 180 200 ( D12 62 72 86 106 104 210N 160 180 200
D14 63 73 88 108 135 165 205 235 275 D14 w 63 73 88 108 135 165 205 235 275
D15 629° \ | = 720 87 107 105 130 158 178 198 D15 629 729 87 107 106 \ AMo 158 178 198
L1 66 75 20 110 140 170 210 240 280 L1 65 75 90 110 140 170 210 240 280
L2 195~ 30 35 40 50 60 75 85 110 L2 195 30 35 40 60/~ 60 75 85 110
L3 13 145 15 15 15 15 20 25 25 L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2 L4 2 2 2 - o 2 2 2 2
L5 16 28 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 2 25 35 4 25 5 25 25 5 L6 2 25 35 4 25 5 25 25 5
L7 475 54 62 72 87 102 127 147 167 L7 475 54 62 72 87 102 127 147 167
L8 67 84 a7 112 137 162 202 232 277 L8 67 B84 a7 112 137 162 202 232 277
Lo 45 4.8 48 7.2 10 12 12 12 15 L9 45 48 48 72 10 12 12 12 15
L10 10 125 125 19 28 36 36 36 42 L10 10 125 125 18 28 36 36 36 42
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 85 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 85 130 1445 135 L21 75 84.5 99 122 144 5 157.5 206.5 239 248
L22 815 08 108 124 5 155.5 180.. 235 2645 275 L22 1075 122 144 177 2145 2425 3115 359 388
c1' 46 70 100 100 130 165 215 215 235 c1® 46 46 70 100 100 100 130 165 165
c2 M4 M5 M6 M6 M8 » MID- M12 M12 M12 P M4 M4 ) M5 M6 M6 M6 M8 M10 M10
&3’ <8 / <14 <14 (<15 875/ €19° <18 <24 <35 <38 <42 <48 <56 c3 <12 <12 <16 <24 <24 <24 <32 <38 <38
c4' 30 34 40 40 50 -\ V680 85 85 116 c4’ 30 30, 34 40 40 40 50 60 60
cs' 30 50 80 80 110 130 180 180 200 cs® 30 30 50 80 80 80 110 130 130
ce' 35 8 4 4 A\ 6 6 6 6 ce* 35 ., 357 8 4 4 4 5 6 6
cr* 42 60 90 80 116 142 190 190 220 (o7 42 42 60 92 82 92 115 142 142
cs' 18.5 19 17 17 195 225 29 29 63 cs’ 215 2156 215 20 20 20 24 31 31
ce' 1335 1545 170 196.5 245 287 5 369 4135 478 co’ 1615 181 21056 252 3046 34756 4405 510 550
c1o' 13.25 135 1075 10.76 13 15 20.75 20.75 53.5 c10° 145 145 155 13 13 13 16 21 21
Blm 5 5 6 6 10 12 14 16 18 Blm 5 5 6 6 10 12 14 16 18
H1 15 18 205 245 35 43 535 59 64 H1 15 18 205 245 35 43 535 59 64




HZT -FL =" HZT -FL1/FR1 "™
i ¥ (=%, MEHi=75~500) = R (AW, REHi=1~5)
L3 Ll L3
],J_LI_.JL| . L3 = L1 - L3 U
j » " -
= L L5 Py &1 5 @ ©
o T il fEIEDINGRRS, 14 F a i fEEDINGRSS, R
E ol @ i o B /$\ i o
4‘ £ .l } ] i ] -]
- Ests: 4 oIy s A3 .
WS po Ef | whEAE) PD3K Wit sz ey i |
E =:= ] 2015 'n B |
= e
s 4
s L1
= @l (A €4 = L
3 = . i c —H -l-—[ o 2
© L= ' . wle ol SRR ]
N 2| 8|S g E:_ = U Sl 3
e
L1 14 12 [} L2l _ . s o
- - Lo —~ [ Y w i = = \
e 17 b ;
L L& o] L8 o
HZT BIIR <% (#42: mm) HZT RAR 4% pr——
A% L) L) 0 4(0) ol A b 2 0 R 090 H 1 H U R H H 0 H () H
D1 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16
D3 22 32 40 50 55 60 D3 13 16 18 22 32 40 50 55 60
D4 i 108 < ) 135 165 205 235 275 D4 7 63 73 88 108 135 165 205 235 275
D5 53 68 83 104 124 144 D5 31 35 43 53 68 83 104 124 144
D6 M8 AN M2 M16 M16 M16 M20 D6 M4 M5 M5 M8 M12 M16_ M16 M16 M20
D7 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 06 , 104 128 160 180 200 C D12 62 72 86 106 104 PR N 160 180 200
D14 108 135 165 205 235 275 D14 w 63 73 88 108 135 165 205 235 275
D15 107 106 130 158 178 188_ | D15 629 729 87 107 105 A V130 158 178 108
L1 110 140 170 210 240 280 L1 65 75 20 110 140 170 210 240 280
12 40 50 60 75 85 A0\ L2 195 30 35 40 A0\ 60 75 85 110
L3 15 15 15 20 25 25 L3 13 14.5 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 L4 2 2 2 A 2 2 2 2
L5 32 45 50 70 80 100 L5 16 25 28 32 45 50 70 80 100
L6 4 25 5 25 25 5 L6 2 25 35 4 25 5 25 25 5
L7 72 87 102 127 147 167 L7 475 54 62 72 87 102 127 147 167
L8 112 137 162 202 232 277 L8 67 84 97 112 137 162 202 232 277
Lo 7.2 10 12 12 12 15 L9 45 48 48 7.2 10 12 12 12 15
L10 19 28 36 36 36 42 L10 10 5 12.5 19 28 36 36 36 42
L11 44 55 67 85 95 110 L11 27 30 36 44 55 67 85 95 110
L13 15 15 15 20 25 25 L13 13 15 15 15 15 20 25 25
L21 136.5 159.5 1835 226 269 278 L21 49 60.5 63 69.5 85.5 95 130 1445 135
L22 1915 2295 2685 331 . 389 418 L22 815 108 1245 1555 180 235 2645 275
c1t 46 46 70 70 100 100 c1® 46 70 100 100 130 165 215 215 235
c2* M4 M4 M5 M5, \ O M6 M6 c2* M4 Ms ) M6 M6 M8 M10 M12 M12 M12
c3* $12 <12 <16 <16 <24 <24 ca' <8/s14® |<14/<15875/<18" <19 <24 <35 <38 <42 <48 <55
c4* 30 30 34 Y 40 40 c4® 30 @#8,\ 40 40 50 60 85 85 116
cs* 30 30 50 50 80 80 cs® 30 50 80 80 110 130 180 180 200
ce6* 356 35 8 o\ 8 4 4 ce* 35 L\ 4 4 5 6 6 6 6
Gt 42 42 60 60 92 92 cr* 42 60 90 20 115 142 1080 180 220
cs* 215 215 215 Y™ 215 20 20 cs® 195 18 17 17 195 225 29 29 63
ce* 268 321 375 4575 529 678 co* 133 5 154.5 170 1965 245 287 5 369 4135 478
cio* 145 1456 15.5 155 13 13 c10° 13.25 135 1075 1075 13 15 20.75 20.76 535
Blm 6 10 12 14 16 18 Bl 5 5 6 6 10 12 14 16 18
H1 245 35 43 535 59 64 H1 15 18 205 245 35 43 535 59 64




HZT -FL1/FR1

W H , MiEHiI=7~50)

HZT -FL1/FR1

SERIES
E3]

(=% , MEHi=75~500)

LLL

-

:

#@Dis

1)}
&

D3

i

DDk

Ll

In B HEIDINGRSS L

Li L1

Li1

@

LLis )

2015

el

Al

'_.’ L1l
: I
= oaate G i
] N
s ] (k] Iz:.,n \
i s o 1
HZT KRR+ % S
K [/T06 H 0 H 40 0 R 0 0 80 H
D1 M4 M6 M8 M10 M12 M16 M16 M16
D3 13 16 22 32 40 50 55 60
D4 w 63 73 108 135 165 205 235 275
D5 31 35 53 68 83 104 124 144
D6 M4 LN M8 M12 M16 M16 M16 M20
D7 21 22 33 47 55 75 85 110
D12 62 72 106 104 128 160 180 200
D14 63 73 108 135 165 205 235 275
D15 62.9° \_ 729 107 106 130 158 178 108
L1 66 75 110 140 170 210 240 280
L2 195~ 30 40 50 60 75 85 10
L3 13 14.5 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2
L5 16 25 32 45 50 70 80 100
L6 2 25 4 25 5 25 25 5
L7 475 54 72 87 102 127 147 167
L8 67 84 112 137 162 202 232 277
Lo 45 48 7.2 10 12 12 12 15
L10 10 125 19 28 36 36 36 42
L11 27 30 44 55 67 85 95 110
L13 13 15 15 15 15 20 25 25
L21 75 84.5 122 144.5 157.5 206.5 239 248
L22 107.5 122 177 2145 2425 3115 359 388
1" 46 46 100 100 100 130 165 165
c2’ M4 M4 M6 M6 ME\ M8 M10 M10
c3’ <12 $12 <24 <24 <24 <32 <38 <38
c4’ 30 30 40 40 L 7e0 50 60 60
cs’ 30 30 80 80 80 110 130 130
ce’ 35 35 4 4 4 4 5 6 6
o 42 42 92 92 92 115 142 142
ce’ 215 215 20 .y 20 24 31 31
ce’ 1615 181 252 3045 347 5 440 5 510 550
c10’ 14 55 1456 13 13 13 16 21 21
Blm 5 5 6 10 12 14 16 18
H1 15 18 245 35 43 535 59 64

2]
E p
= = 3
12 [ 14 wu l \
LT LT (1]
LA
HZT RAIR 4% O )
AN () = L) ) U H 40) ol =
D1 M8 M10 Mi2 M16 M16 M16
D3 = 22 32 40 50 55 60
D4 wr 108 135 165 205 235 275
D5 53 68 83 104 124 144
D& M8 Mi2 M16 M16 ~ M16 M20
D7 33 47 65 75 85 110
D12 106 104 128 18p \ DO 180 200
D14 108 135 165 206 235 275
D15 107 106 130 158, 178 198
L1 110 140 170 210 240 280
L2 40 50 60 75 85 110
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2
LS 32 45 50 70 80 100
L6 4 25 5 25 25 5
L7 72 87 102 127 147 167
L8 112 137 162 202 232 277
L9 7.2 10 12 12 12 15
L10 19 28 36 36 36 42
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.5 183.5 226 269 278
L22 1015 2295 268.5 331 389 418
c1’ 46 46 70 70 100 100
c2* M4 < wma M5 M5 M6 M6
e <12 <12 <16 <16 <24 <24
c4® 30 {,\ 20 34 34 40 40
cs* 30 30 50 50 80 80
ce® 36 ., N 35 8 8 4 El
c7" 42 42 60 60 92 92
cs® 218\ O 215 215 215 20 20
ce® 268 321 375 4575 529 578
c10* 145/ 145 155 155 13 13
Blmw 6 10 12 14 16 18
H1 245 35 43 53.6 59 64




SERIES SERIES
HZT -FH 5 (B¥% , BoEHi=1~5) HZT -FH AP (W, Wk Hi=7~50)

L3 Li L3 L3 Ll L

P T

L11
L11
iy

b

Li)

L11

B2z

f 2 } i =
r b
g L 1 @15
T |
CY L1 ord
i1 e 1
@l =) 4 = i b 4 5 L1l .. Li1 T T,
/\ G L % /-.ri!. HeAD I NGERE, 1T lng g N /- : HeER -}
2! \( = L) i \? r 2 .
=lwe| 5 y §E_:_ sl =) 7 é E &) =8 = s o -:- - M # E :“
= wsla | 6' —:— —U \? 1] i/ = . R i } i L &“ET K / E ]
b ) ) S T6%, = N /
o8 L1 \ y .y Ch 3 \
R o & i i Lz

LT L7 co . c D'

HZT RRR~t%& (847: mm) HZT ZFIR +% (842: mm)
B Ub U LU90) 0 40) 0 0 40) 80 AN Ub 0 90 0 40) 0 ) ) 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16 D1 M4 M6 M6 M8 M10 M12 M16 M16 M16

D2 13 14 18 22 32 40 50 55 60 D2 v 13 14 18 22 32 40 50 55 60
D4 i 63 O 88 108 135 165 205 235 275 D4 w7 63 73 88 108 135 165 205 235 275
D5 31 35 43 53 68 83 104 124 144 DS 31 35 43 53 68 83 104 124 144
D7 21 JRZ S 28 33 47 55 75 85 110 D7 21 22 28 33 47 55 75 85 110
D12 62 72 86 106 104 128 160 180 200 D12 62 72 86 106 104 128 160 180 200
D14 63 s 88 108 135 165 205 235 215 D14 63 73 88 108 135 21667 205 235 275
D15 62.9 729 87 107 105 130 158 178 198 D15 629 72.9 87 107 106 130 158 178 198
L1 657\ | 75 90 110 140 170 210 240 280 L1 65 75 90 110 140 \ Ao 210 240 280
L3 13 145 15 15 15 15 20 25 25 L3 13 145 15 15 15 15 20 25 25
L4 2 < 2 2 2 3 2 2 2 N2 L4 2 2 2 2 2\ 2 2 2 2
L7 475 54 62 72 87 102 127 147 167 L7 475 54 62 72 87 102 127 147 167
L11 27 30 36 44 55 67 85 95 110 L11 27 30 36 44 85, 67 85 95 110
L13 13 15 15 15 15 15 20 25 25 L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 144 5 135 L21 75 845 29 122 144 5 1575 206.5 239 248
L22 815 98 108 1245 155.5 180 235 264 5 275 122 107 5 122 144 177 2145 2425 3115 350 388
L23 40 47 52 53 70 80 95 115 1156 L23 40 47 52 53 70 80 05 115 115
L24 30 32 35 35 50 55 65 80 80 L24 30 32 35 35 50 55 65 80 80
&1° 46 70 100 100 130 165 215 215 235 c1 46 46 70 100 100 100 130 165 165
oo* M4 M5 M6 M6 M8 M10 M12 M12 M12 c2t M4 M4 M5 M6 M6 M6 M8 M10 M10
g <11/<12* | 514/<15875/<16" <19 <24 <32 <38 <42 <48 <56 cat <12 <12 <16 <24 <24 <24 <32 <38 <38
c4® 30 34 40 40 50 60 85 85 116 catt 30 30 34 40 40 40 50 60 60
cs* 30 50 80 80 110 130, 180 180 200 cs 30 30 50 80 110 130 130
ce’ 35 8 4 4 5 8 6 6 6 ce* 35 35 8 4 4 4 5 8 6
cr 42 60 90 80 115 PR 190 180 220 art 42 42 4) 60 92 92 92 115 142 142
cs’ 19.5 19 17 17 19.5 225 29 29 63 cs" 215 215 215 20 20 20 24 31 31
co’ 1335 154 5 170 196.5 245 4\ V287.6 369 4135 478 cet 1615 18 » | 2108 252 304 5 3475 440 5 510 550
c10° 13.25 135 10.75 10.75 13 15 2075 2075 535 cio* 145 14.5 155 13 13 13 16 21 21
B3 re 5 5 6 6 PN 12 14 16 18 B3 ™ 5 . o 6 6 10 12 14 16 18
H3 15.3 16.3 208 248 353 433 538 59.3 64.4 H3 15.3 16.3 20.8 248 353 433 538 59.3 64 4




HZT -FH

SERIES
£yl

(=% , W tki=75~500)

L1l

1]}
s

&

5 — ) P ¢ L1l
ﬁ\ _.“_»_u m_ﬁ‘:'t—l é i /ﬁ!; L IRDINGRRS/ 1 4R
? % 3
= -] s |5 - 1 o / =
o o S < G -
(1.3 L21
Y I o
L7 | LT 09 b1
HZT RAIR % CAREE ‘i)
R 0 40 L) ) sl
D1 M8 M10 M12 M16 M16 M16
D2 22 32 40 50 55 60
D4 tr 108 «~ 135 165 205 235 275
D5 53 68 83 104 124 144
D7 33 cCX/ 55 75 85 110
D12 106 104 128 160 180 200
D14 W 108. 135 165 205 235 275
D15 107 106 130 158 178 198
L1 Cap® 140 170 210 240 280
L3 15 15 15 20 25 25
L4 2 2 2 2 2 2/
L7 72 87 102 127 147 167
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 136.5 159.6 1835 226 269 278
L22 1915 2295 2685 331 389 418
L23 53 70 80 95 115 115
L24 35 50 55 65 80 80
23 oy 46 46 70 70 100 100
o M4 M4 M5 M5 M6 M6
c3® <12 <12 <16 <16 . <24 <24
c4* 30 30 34 34 40 40
cs* 30 30 50 50, \PN 80 80
c6” 35 35 8 8 4 4
7™ 42 42 60 60 92 92
ca* 215 215 215 215 20 20
ce® 268 321 375 /. \4575 529 578
c10* 14.5 145 15.6 15.5 13 13
B3 6 10 12 4 14 16 18
H3 248 353 433 53.8 59.3 64.4

HZT -FC

SERIES
E ]

(95, WhEEEi=1~5)

L3 L1

L26

bl 113

2015

o L

ot

dicz

b1

@cs

HZT RAIR % "
B 06 ) 090 §) 40) 0 () 40 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16

D2 ws 13 14 18 22 32 40 50 55 60
D3m 16 16 22 256 4y 50 62 68 75
D4 w 63 73 88 108 135 165 205 235 275
D12 62 T2 86 106 104 m 160 180 200
D14 w 63 73 88 108 135 165 205 235 275
D15 62.9 72.9 87 107 105 '\ 130 158 178 198
D17 26 26 36 38 61 70 86 86 100
D18 41 41 50 50 80 v 20 110 115 138
L1 65 75 80 110 140 170 210 240 280
L2 14 14 18 18 /20 26 29 29 305
L3 13 145 15 156 15 15 20 25 25
L4 2 2 2 2 ") 2 2 2 2 2
LT 475 54 62 72 87 102 b 147 167
L8 66 725 85 95 1165 1335 1615 1815 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 49 60.5 63 69.5 85.5 95 130 144 5 135
L22 815 98 108 1245 155.5 180 235 2645 275
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 19.5 195 255 275 305 30.5 325
L26 185 185 23 23 295 315 345 345 38
o™ 46 70 100 100 130 165 215 215 235
] M4 M5 <) M6 M6 M8 M10 M12 M12 M12
c3® <11/s12" | s14/s15875/.516" <19 <24 <32 <38 <42 <48 <55
ca® 30 &y X 40 40 50 60 85 85 116
cs® 30 50 80 80 110 130 180 180 200
[+ 35 . 8 4 4 5 6 8 6 6
c72 42 60 90 20 115 142 190 190 220
cs®” 185 N 19 17 17 195 225 29 29 63
ce® 1336 154 5 170 196.5 245 2875 369 4135 478
c10” 13.25 135 10.75 10.75 13 15 2075 2075 535




SERIES
ES ]|

HZT -FC

oA, W Hi=7~50)

L L1 1.3

L11

dihs
|
i}
folTL]

L1

L3

:—-I_ i @nls

B
4 e

6 | '_‘l \53 L1 _&‘]

I % &
, 73 oo @@f_
o 218 |l _? D || F _/ = il

i + ,/é

N | (| 4 s 121
L7 L7 15 \u
L& LE %]

HZT &3 R~%& (g4: mm)
A LB ) 090 () ) 0 ) A4() 80
D1 M4 M6 M6 M8 M10 M12 M16 M16 M16

D2 na 13 14 18 22 32 40 50 55 60
D3 ne 16 16 - 22 25 44 50 62 68 75
D4 7 63 3 88 108 135 165 205 235 275
D12 62 ) 86 106 104 128 160 180 200
D14 w7 63 73 88 108 135 165 205 235 275
D15 629 729 87 107 106 130 158 178 198 [
D17 26 26 36 38 61 70 86 86 100
D18 a’/\ [t m 50 50 80 90 110 115 138
L1 68 75 90 110 140 170 210 240 280
L2 14 14 18 18 24 26 29 29 (308
L3 13 145 15 15 15 15 20 25 25
L4 2 2 2 2 2 2 2 2 2
L7 475 54 62 72 87 102 127 147 167
L8 66 725 85 95 1165 1335 1615 1815 205
L11 27 30 36 44 55 67 85 95 110
L13 13 15 15 15 15 15 20 25 25
L21 75 845 29 122 144.5 157.5 2065 239 248
L22 107.5 122 144 177 2145 2425 3115 359 388
L23 15 15 20 20 26 28 31 31 325
L24 15 15 20 20 26 28 31 31 325
L25 15 15 19.5 19.5 255 275 30.5 305 325
L26 18.5 185 23 23 295 3156 . 345 345 38
o 46 46 70 100 100 100 130 165 165
oot M4 M4 M5 M6 M6 ME\ M8 M10 M10
ogr <12 $12 <16 <24 <24 <24 <32 <38 <38
c4* 30 30 34 40 40 L 7e0 50 60 60
cs"™ 30 30 50 80 80 80 110 130 130
ce* 35 35 8 4 4 4 4 5 6 6
(7 42 42 60 92 g2 92 115 142 142
[ 215 215 215 20 .y 20 24 31 31
ce® 1615 181 2105 252 3045 3475 4405 510 559
c10” 145 145 155 13 13 13 16 21 21

HZT -FC

SERIES
R

=% , MEHi=75~500)

126

L25

1
18

P

D18

@0ldnr

o
-I— £ R +—:
g3 e I W 3
2Na =1 I &_/ /’ / _
Ny
Al 14 L4 ] L21
L7 L7 L22 \u
Ly 8.1 (&)
HZT AR+ % PAE )
A ) U () ) 80
D1 M8 M10 M12 M16 M16 M16
D2 ne 22 32 40 50 556 60
D3 ra 25 44 50 62 68 75
D4 w 108 135 165 205 235 275
D12 106 104 128 160 ~ 180 200
D14 w 108 135 165 205 235 275
D15 107 106 130 159 \ O\ 178 198
D17 38 61 70 86, B6 100
D18 50 80 20 110, " 115 138
L1 110 140 170 210 240 280
L2 18 24 26 S 28 29 305
L3 15 15 15 20 25 256
L4 2 2 2 Y 2 2 2
L7 72 87 102 127 147 167
L8 85 1165 1335 1615 1815 205
L11 44 55 67 85 95 110
L13 15 15 15 20 25 25
L21 1365 159.5 1835 226 269 278
L22 1915 2295 268.5 331 389 418
L23 20 26 28 31 31 325
L24 20 26 28 31 31 325
L25 19.5 255 275 30.5 30.5 325
L26 23 295 315 345 345 38
o 46 46 70 70 100 100
g2 M4 < wma M5 M5 M6 M6
c3" <12 <12 <18 <16 <24 <24
ca* 30 {,\ 20 34 34 40 40
c6" 30 30 50 50 80 80
c6* 36 ., N 35 8 8 4 4
or” 42 42 60 60 92 92
cs” 218\ O 215 215 215 20 20
co* 268 321 375 4575 529 578
c10” 1456/ 145 165 155 13 13




ZEIEE

# yn ol IE

REBNEITEEE

TEFRRELRERE, HERTHEEET.
1HEFTERENBMETRE,
CEMERINBHENSINETERER, EENFEAFH
BRERFTEE, LWBEESWHIIMROEMCEBHRE.
HFEE) o

BITRNEESE

R i B -
CBEMEEEHRRREMERE T RTROARER.
CBUEREE ., WA EEFEMSE, KEBRER,
HEUTEAERPERBE, REBHEH.

s i FEFRET R (M) o AEBIEENTER,

=z RE
W TEE B R W ek B35 B E A

BEEZITZHE. KRZENSHEMR, FEERELQT

BE,

BEMEZEIC-40TC,

NAEFRIBEESEEMEAREE, VEREALTIER,
ARG EAATEMAFANRLEE L, FHERERE.
REREZEIREHEENERLE,

BTRABATAIERERIR
AprERHERUERTHREENRERE, MEATHEESE
Mo #RETR, BAERHHMMRESEFEE, F1918M13
e,

ETHRMIEEEE

mEEAEBAER.
BHEERGBIBRE, M EREE,
BETIHRRE, FEGETINETRE.
- mERA T

- RAHBRANSER
CHERAEBAEBE

RE

- REERERRZNERER,
UT&EBAfMEEREREEEA.
1) RERKEHE.

Cautions for storage

Whenever temporarily keeping the product, keep the
following directions:

1.Keepin aclean and dry piace.

2.Whenever storing outdoors or in humid place, putin abox so
that it does not directly contact rain or extemal air and cover
with a vinyl sheet(Take a measure to prevent rust).

Cautions for operation

When the reduxcer is delivered to you:--

When the produce-delivered please con rem that same moderl
you have ordered.

Please wipe out the input and output shaft of the reducer which
is coverde by anti-corrosive oil.

#Please remove the rubber cap on the input shaft before you
wipe the shafts.

#Lubricant (grease) is already lled in the reducer. It is avaliable
asitis.

Fixation & installation

Avoid use in place where rain or water drops directly.

In case of use outdoors orin a place where dust and water
drops, consultin advance.

Install at 0°C~407C of surrounding temperature.

In case of use at temperature out of the above-mentioned
range, contact the headquarters and consult on this.

Firmly x with a bolt onto a solid stand without vibration.

Install in consideration of convenience in repair and inspection,

Cautions prior to starting the operation

Reducer can be used soon after arrval, since it hasalready
been lled out with lubrication.

Atinitial operation, check the rotating direction of the output
shaft then gradually apply load.

Cautions during operation

Avoid overload.Ensure that input speed shall not be the number
of revolutions beyond the speci cation.

In the following cases,stop the operation and check the follow—
ing points;

- If temperature sharply increases

* If an abnormal noise appears sharply

+ If the number of revolutions becomes unstable sharply

2) FEMBHMAKBSZERAFRANEAULZEBEEZLRT, REXIHEWTERINEAM.
3) AXRERNME, BETEMNAELAEEARTUARBIESFEMNBERE.

4) REMAIREMSHERIEE.

TTERGERM HER IR

&R
e HEe ENpSEE . HEE%.

-
(2]

::\533.

£ R4

B EREENEETIENT, HEiE
W BIERREmA LA, % 5iEHE
123 NN, R R BN
3, FEFERRGAEN R R SRR
EEHE, RIEENEERHEEERER
i, (8%8%—)

1 I RREE

HER2,
TR,

HER5.

£ 53,

HEFR I\l B BIR i pY SR T
ek, FRAREERERHTN. 0F
BWME, REFEWEMT.

+ 526,

EAMERFSRRBETNREAER 2pome. 2.

REEERE. (2%%—)

IS, EEUERR

BFDikmESD, FEES

BEE®E e, FEHEOSESTES FEamAminFL oY, 8]
gmn | BAMBOBON, BOT 2 e— AR, e
g ¥ aEAmigF NSkl b FiESTHHMRRN DAL
3 5 o g, ADAE, BiE—#, ARTEMER
o4 o GO S9N E IR O NFESHETRAOFF 8 %
37, LUER AR E 8 prens 37, BIEEMERNERR
FEEAH ENNEE SR, EHES F2E1A],
HFEE,
EMENDIARESE HIHNENRERZE
——
i R~Y INm] [kgfm] [Nm] [kgfm]
14 0.11 1.9 0.18
b 4
2.5 0.26 4.3 0.44
5.1 0.52 8.7 0.89
D 87 0.89 15 1.5
21 2.1 36 a7
| M10 | 42 4.3 71 72
| "Mz | 72 7.3 125 75
| M16 IR 14 - -




~4

Qx
<X

=4

CA
\J

4




